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TNPSC GROUP I TEST BATCH 2024 
TEST X UNIT IV HISTORY AND CULTURE OF INDIA 

APTITUDE AND MENTAL ABILITY – LCM & HCF 
 

1. Match the following 
List I     List II 
Chalcolithic cultures   Types sites 
A. Ahar-Banas culture   1. Ghaligai 
B. Gandhara culture   2. Inamgaon 
C. Malwa culture   3. Gilund 
D. Savalda culture   4. Navdatoli 
 A B C D 
a. 1 2 3 4 
b. 3 1 2 4 
c. 1 3 4 2 
d. 3 1 4 2 
e. Answer not known 
nghUj;Jf 
gl;bay; I     gl;bay; II 
nrk;Gfhyf; fyhr;rhuq;fs;      jsq;fspd; tiffs; 
A. mfh; gdh]; fyhr;rhuk;   1. fhypif 
B. fhe;jhu fyhr;rhuk;    2. ,dk;fhd; 
C. khy;th fyhr;rhuk;    3. fpYz;l; 
D. rthy;lh fyhr;rhuk;    4. et;Njhyp 

A B C D 
a. 1 2 3 4 
b. 3 1 2 4 
c. 1 3 4 2 
d. 3 1 4 2 
e. tpil njupatpy;iy 
 

2. Ash-mounds, which mystified archeologists for so long, have been discovered at: 
i. Mahagara   ii. Pallavoy   iii. Kupgal 
iv. Chirand   v. Utnur   vi. Kodekal 
Choose the answer from the codes given below: 
a. i, ii, iii and iv  b. ii, iii, iv and v   c. iii, iv, v and vi 
d. ii, iii, v and vi  e. Answer not known 
ePz;l fhykhf njhy;nghUs; Muha;r;rpahsu;fis jpiff;f itj;j rhk;gy; NkLfs; ,q;F 
fz;Lgpbf;fg;gl;Ls;sd: 
i. kfhfuh     ii. gy;yhNtha;       iii. Fg;fy; 
iv. rpue;j;;     v.cj;Du;    vi. nfhNlfy; 
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fPNo cs;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. i, ii, iii kw;Wk; iv  b. ii, iii, iv kw;Wk; v  c. iii, iv, v kw;Wk; vi 
d. ii, iii, v kw;Wk; vi  e. tpil njupatpy;iy 

 
3. Which one of the following sites does not have evidence of pit-dwellings? 

a. Burzahom   b. Sarai Khola  c. Jalilpur 
d. Gufkral   e. Answer not known 
fPo;f;fz;l ,lq;fspy; ve;j ,lj;jpy; Fop tPLfs; ,Ue;jjw;fhd rhd;Wfs; ,y;iy? 
a. gu;rhN`hk;         b. rhuha; Nfhyh     c. [yPy;G+u;                
d. F/g;f;uy;    e. tpil njupatpy;iy 
 

4. Pick the wrong pair from the following: 
a. Belan Valley-Uttar Pradesh    b. Pravara Valley-Rajasthan 
c. Soan Valley-Madhya Pradesh   d. Hiran Valley-Saurashtra 
e. Answer not known 
gpd;tUtdtw;wpypUe;J jtwhd ,iziaj; Nju;e;njLf;fTk; 
a. ngyd; gs;sj;jhf;F - cj;jug; gpuNjrk;  b. gputhuh gs;sj;jhf;F-uh[];jhd; 
c. Nrhd; gs;sj;jhf;F - kj;jpag; gpuNjrk;  d. `puhd; gs;sj;jhf;F-nrsuh~;buh 
e. tpil njupatpy;iy 
 

5. Megaliths of south India are mainly associated with: 
a. Mesolithic age   b. Neolithic age  c. Chalcolithic age 
d. Iron age   e. Answer not known 
njd;dpe;jpahtpd; ngUq;fw;fSld; njhlu;Gila fhyk; ______ 
a. ,ilf;fhyf; fhyk;    b. Gjpa fw;fhyk;    c. nrk;G fhyk;  
d. ,Uk;Gf; fhyk ;  e. tpil njupatpy;iy 

 
6. Match the following 

Cultures    Pottery 
A. Malwa    1. Black and Red 
B. Eastern Neolithic  2. Brownish-red 
C. Burzahom   3. Grey 
D. Jorwe    4. Red 
E. Southern Neolithic  5. Burnished-grey 

A B C D E 
a. 3 2 4 1 5 
b. 4 5 2 3 1 
c. 2 3 4 1 5 
d. 1 2 3 4 5 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf 
fyhr;rhuq;fs;       kz;ghz;lq;fs; 
A. khy;th     1. fUg;G kw;Wk; rptg;G 
B. fpof;F Gjpa fw;fhyk;   2. gOg;G-rptg;G 
C. gu;rhN`hk;     3. rhk;gy; 
D. N[hu;Nt     4. rptg;G 
E. njw;F Gjpa fw;fhyk;   5. vupe;j-rhk;gy; 
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A B C D E 
a. 3 2 4 1 5 
b. 4 5 2 3 1 
c. 2 3 4 1 5 
d. 1 2 3 4 5 
e. tpil njupatpy;iy 
   

7. Which of the following statements about Harappan measurements are true? 
i. The Harappans seem to have used both the foot and the cubit systems 

simultaneously 
ii. Their foot system ranged from 16 to 32 cm and cubit from 48 to 64 cm 
iii. At Mohenjodaro, a slip of shell seems to be part of a linear systems. 
iv. At Harappa, a fragmentary bronze rod, broken at both ends seems to have been 

based on the standard cubit. 
Choose the answer from the codes below: 
a. all of them   b. i, ii and iii   c. i, iii and iv 
d. i and iv    e. Answer not known 
`ug;ghtpd; mstPLfs; gw;wpa gpd;tUk; $w;Wfspy; vJ rhp? 
i. `ug;gu;fs; mb kw;Wk; Ko mikg;G ,uz;ilAk; gad;gLj;jpajhfj; njupfpwJ 
ii. mb vd;gJ 16 Kjy; 32 nrd;bkPl;lu; tiuapYk;> Kok; vd;gJ 48 Kjy; 64 nrd;bkPl;lu; 
tiuapYk; ,Ue;jd.     
iii. nkhfQ;rjhNuhtpy;> fz;lwpag;gl;l xU rpg;gpj;Jz;L Neupay; mstPL mikg;gpd; xU 
gFjpahfj; njupfpwJ. 
iv. `ug;ghtpy;> ,U KidfspYk; cile;j xU ntz;fyj;jz;L> epiyahd Koj;jpd; 
mbg;gilahff; nfhz;ljhfj; njupfpwJ.  
fPNo cs;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a ,it midj;Jk;  b. i, ii kw;Wk; iii  c. i, iii kw;Wk; iv 
d. i kw;Wk; iv   e. tpil njupatpy;iy 

 
8. Match List I with List II and select the correct answer using the codes given below the 

lists. 
List I        List II 
A. Impressions of cloth on sealings   1. Alamgirpur 
B. Impressions of cloth on a trough   2. Mohenjodaro 
C. Fragment of a woven cloth    3. Lothal 

4. Harappa 
A B C  

a. 3 1 2 
b. 1 4 3 
c. 2 3 4 
d. 1 3 2 
e. Answer not known 
gl;bay; I I gl;bay; II  cld; xg;gpl;L> gl;bay;fSf;F fPNo nfhLf;fg;gl;Ls;s 
FwpaPLfisg; gad;gLj;jp rupahd tpiliaj; Nju;e;njLf;fTk;. 
gl;bay; I        gl;bay; II  
A. Kj;jpiufs; kPJ Jzpapd; gjpTfs;   1. Myk;fpu;G+u; 
B. xU njhl;bapy; Jzpapd; gjpTfs;    2. nkhfQ;rjhNuh 
C. nea;j Jzpapd; Jz;L     3. Nyhjy;  
                                 4. `ug;gh 
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A B C  
a. 3 1 2 
b. 1 4 3 
c. 2 3 4 
d. 1 3 2 
e. tpil njupatpy;iy 

 
9. Match List I with List II and select the correct answer using the codes given below the 

lists: 
List I     List II 
(Harappan sites)   (Burial customs) 
A. Harappa   1. Brick chamber or cist 
B. Lothal    2. Coffin burial 
C. Kalibangan   3. Pot burial 
D. Surkotada   4. Double burial 

A B C D 
a. 2 4 3 1 
b. 4 2 1 3 
c. 2 4 1 3 
d. 1 3 2 4 
e. Answer not known 
gl;bay; I I gl;bay; II  cld; xg;gpl;L> gl;bay;fSf;F fPNo nfhLf;fg;gl;Ls;s 
FwpaPLfisg; gad;gLj;jp rupahd tpiliaj; Nju;e;njLf;fTk;. 
gl;bay; I       gl;bay; II  
(`ug;ghd; jsq;fs;)     (Gijf;Fk; gof;ftof;fq;fs;) 
A. `ug;gh      1. nrq;fy; miw my;yJ rp];l; 
B. Nyhjhy;      2. rtg;ngl;b mlf;fk; 
C. fypgq;fd;      3. FLitapy; Gijj;jy; 
D. Ru;Nfhjhjh      4. ,ul;ilf; fy;yiw 

A B C D 
a. 2 4 3 1 
b. 4 2 1 3 
c. 2 4 1 3 
d. 1 3 2 4 
e. tpil njupatpy;iy 

 
10. Match List I with List II and choose the answer from the codes given below: 

List I     List II 
A. Copper rhinoceros  1. Chanhudaro 
B. Serpent Goddess  2. Lothal and Kalibangan 
C. Medical beliefs  3. Gumla and surgical skills 
D. Bronze    4. Daimabad bullock models of carts and Ekkas 

A B C D 
a. 4 3 2 1 
b. 1 2 3 4 
c. 2 3 4 1 
d. 3 1 4 2 
e. Answer not known 
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nghUj;Jf 
gl;bay; I     gl;bay; II  
A. nrg;G fhz;lhkpUfk;  1. rd;̀ {jhNuh 
B. ghk;G Njtij   2. Nyhj;jy; kw;Wk; fypgq;fhd; 
C. kUj;Jt ek;gpf;iffs;  3. Fk;yh kw;Wk; mWit rpfpr;ir jpwd;fs; 
D. ntz;fyk;    4. ilkhghj; fhiskhl;L tz;b khjphpfs; kw;Wk;  

,f;fhf;fs; 
A B C D 

a. 4 3 2 1 
b. 1 2 3 4 
c. 2 3 4 1 
d. 3 1 4 2 
e. tpil njupatpy;iy 
 

11. Which are the two Neolithic sites, having evidence of rice cultivation, which may 
possibly be the oldest evidence of rice in any part of the world, if their early dating is 
clearly established? 
i. Amri  ii. Koldihwa  iii. Mahagara  iv. Gumla 
Select the answer from these codes given below: 
a. i and ii   b. ii and iii    c. iii and iv 
d. ii and iv  e. Answer not known 
fhy kjpg;gPlhdJ njspthf epWtg;gl;bUe;jhy; muprp rhFgb nra;ag;gl;ljw;fhd 
Mjhuq;fisf; nfhz;l ,uz;L Gjpa fw;fhy jsq;fs; vit> mit cyfpd; ve;jg; 
gFjpapYk; muprp tsu;f;fg;gl;ljw;fhd kpfg; goikahd Mjhukhf ,Uf;fyhk;?  
i. mk;up   ii. nfhy;bth  iii.  kfhfuh    iv. Fk;yh 
fPNo cs;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. i kw;Wk; ii  b. ii kw;Wk; iii    c. iii kw;Wk; iv 
d. ii kw;Wk; iv  e. tpil njupatpy;iy 

  
12. Which of the following places have evidence of ploughing in the proto- Harappan 

period? 
i. Mohenjodaro   ii. Kalibangan  iii. Lothal 
iv. Banawali   v. Chanhudaro 
Select the answer from the codes given below: 
a. i and ii    b. ii and iv   c. iii and iv 
d. iv and v   e. Answer not known 
gpd;tUk; ,lq;fspy; vJ `ug;gh fhyj;jpw;F Kd;du; coT nra;ag;gl;ljw;fhd 
rhd;Wfisf; nfhz;Ls;sJ? 
i. nkh`Q;rNlhNuh  ii. fypgq;fd;   iii. Nyhjy;  
iv. gdhthyp   v. rd;{`jhNuh 
fPNo cs;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. i kw;Wk; ii   b. ii kw;Wk; iv   c. iii kw;Wk; iv 
d. iv kw;Wk; v   e. tpil njupatpy;iy 

 
13. Which one of the following pairs is correctly matched? 

a. Harappa-Dockyard   b. Lothal-Temple-like structure 
c. Surkotada-Horse remains  d. Mohenjodaro-‘H’ cemetery 
e. Answer not known 
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gpd;tUk; ,izfspy; vJ rupahf nghUe;JfpwJ? 
a. `ug;gh- fg;gy; fl;Lk; jsk;  b. Nyhj;jy;-Nfhapy; Nghd;w fl;likg;G 
c. Ru;Nfhl;lhlh-Fjpiu vr;rk;  d. nkh`Q;rjhNuh- “H” fy;yiw 
e. tpil njupatpy;iy 
 

14. Arrange the following classes from numerically the least to the highest as is found at 
Mohenjodaro excavations. 
i. Administrators and merchants 
ii. Common people and slaves 
iii. Artisans 
Choose the correct answer from the codes below: 
a. iii, i, ii   b. i, ii, iii    c. i, iii, ii 
d. ii, iii, i    e. Answer not known 
fPo;f;fz;l r%f tFg;Gfis nkh`Q;rjhNuh mfo;thuha;r;rpapy; fhzg;gLk; 
mbj;jl;bypUe;J Nky;jl;lhf tupirg;gLj;jTk;.  
i. epu;thfpfs; kw;Wk; tzpfu;fs;  
ii. rhjhuz kf;fs; kw;Wk; mbikfs;  
iii. iftpidQu;fs; 
fPNo cs;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. iii, i, ii   b. i, ii, iii    c. i, iii, ii 
d. ii, iii, i    e. tpil njupatpy;iy 

 
15. Match List I with List II and select the answer using the codes given below: 

List I    List II 
A. Bearded man   1. Gumla 
B. Fire Altars   2. Lothal 
C. Sandstone torso  3. Harappa 
D. Serpent Goddess  4. Mohenjodaro 
     5. Surkotada 

A B C D 
a. 4 5 2 3 
b. 4 5 1 3 
c. 2 1 3 5 
d. 4 2 3 1 
e. Answer not known 
nghUj;Jf. 
gl;bay; I     gl;bay; II  
A. jhb  kdpjd;   1. Fk;yh  
B. jP gypgPlq;fs;   2. Nyhj;jy;  
C. kzw;fy; cly;   3. `ug;gh  
D. ghk;G Njtij   4. nkh`Q;rjhNuh  

5. Ru;Nfhlhlh 
A B C D 

a. 4 5 2 3 
b. 4 5 1 3 
c. 2 1 3 5 
d. 4 2 3 1 
e. tpil njupatpy;iy 
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16. Which of the following indicates the care taken by the Harappans for sanitation? 
i. Street drains  ii. Rubbish chute  iii. Great Bath iv. Dustbins 
Select the answer from the codes given below: 
a. ii and iii   b. i and iv   c. i, ii and iv 
d. all the above   e. Answer not known 
gpd;tUtdtw;wpy; vJ `ug;gh kf;fs; Rfhjhuj;jpw;fhf vLj;Js;s mf;fiwiaf; 
Fwpf;fpwJ? 
i. njU tbfhy;  ii.  fopT tha;f;fhy;  iii. ngUq;Fsk;  iv. Fg;igj; njhl;bfs;  
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J tpiliaj; Nju;e;njLf;fTk;: 
a. ii kw;Wk; iii   b. i kw;Wk; iv   c. i, ii kw;Wk; iv 
d. Nkw;$wpa midj;Jk;  e. Answer not known 

 
17. The Harappans extensively used burnt bricks because 

i. They provided defence against frequent floods. 
ii. They provided security to their wealth from robbers. 
iii. Stone was not readily available. 
iv. Mud bricks are not strong in damp and rainy conditions. 
Choose the correct answer from the codes given below: 
a. i and ii    b. i, ii and iii    c. i, iii and iv 
d. all the above   e. Answer not known 
`ug;gu;fs; Rl;l nrq;fw;fisg; gutyhfg; gad;gLj;jpdu;> Vnddpy; 
i. mbf;fb nts;sk; tUtijj; jLf;Fk; tifapy; mit mikf;fg;gl;ld. 
ii. mit jq;fs; nry;tj;jpw;F nfhs;isau;fsplkpUe;J ghJfhg;ig toq;fpd 
iii. fUq;fw;fs; vspjpy; fpilf;ftpy;iy.  
iv. Rlg;glhj nrq;fw;fs; <ug;gjkhd kw;Wk; kio R+o;epiyfspy; tYthf ,y;iy.  
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rupahd tpiliaj; Nju;e;njLf;fTk;.  
a. i kw;Wk; ii   b. i, ii kw;Wk; iii   c. i, iii kw;Wk;  iv 
d. Nkw;$wpa midj;Jk;  e. Answer not known 
 

18. Which of the following is true of the Harappans? 
a. They did not use stone in their constructions. 
b. Some houses were provided with soakage pits. 
c. They knew the true arch and profusely used it in large constructions. 
d. Every city was provided with a temple to worship the idols of Pasupati. 
e. Answer not known 
gpd;tUtdtw;Ws; vJ `ug;ghf;fspd; cz;ik?  
a. mtu;fs; jq;fs; fl;Lkhdq;fspy; fy;iyg; gad;gLj;jtpy;iy.  
b. rpy tPLfspy; fopTePh; CWnjhl;bfs; ,Ue;jd.  
c. cz;ikahd tisit mtu;fs; mwpe;jpUe;jdu;> NkYk; ngupa fl;Lkhdq;fspy; 

mijg; gad;gLj;jpdu;. 
d. xt;nthU efuj;jpYk; gRgjpapd; rpiyfis tzq;Ftjw;F xU Nfhtpy; 

mikf;fg;gl;bUe;jJ 
e.  tpil njupatpy;iy                 

 

19. Which of the following is incorrectly paired? 
a. Kanda- The smith who served the last meal to Buddha. 
b. Udraka- The first disciple of Buddha. 
c. Alara Kalama- The first teacher of Buddha 
d. Ananda- The chief disciple of Buddha. 
e. Answer not known 
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gpd;tUtdtw;wpy; vJ jtwhf ,izf;fg;gl;Ls;sJ? 
a. fe;jh - Gj;jUf;F filrp czit gupkhwpa nfhy;yh; 
b. cj;ufh - Gj;jupd; Kjy; rPlu;.  
c. myhuh fyhkh - Gj;jupd; Kjy; Mrpupau;  
d. Mde;ju; - Gj;jupd; Kjd;ik rPlu; 
e.  tpil njupatpy;iy                 

 

20. Find out the correct statement about Mahavira  
i. Believed that god had created this world and exercises control over it. 
ii. Regarded all objects, animate or inanimate, as endowed with various degrees of 

consciousness. 
iii. Rejected the authority of the Vedas and objects to the Vedic rituals and Brahmin 

supremacy. 
iv. Advocated severe asceticism and extreme penance for the attainment of the 

highest spiritual state. 
a. all of them   b. i, ii, and iii   c. ii, iii, and iv 
d. i, iii and iv   e. Answer not known 
kfhtPuh; Fwpj;j rhpahd $w;Wf;fis Njh;f 
i. flTs; ,e;j cyfj;ij cUthf;fp> mjd; kPJ jdJ fl;Lg;ghl;il nrYj;Jfpwhu; 

vd;W ek;gpdhu;.  
ii. capUs;s my;yJ capuw;w midj;Jg; nghUl;fisAk;> gy;NtW msT 

czu;Tfisf; nfhz;ljhff; fUjpdhu;. 
iii. Ntjq;fs; kw;Wk; Ntj rlq;F nghUl;fspd; mjpfhuj;ijAk; kw;Wk; gpuhkz 

Nkyhjpf;fj;ijAk; epuhfupj;jhu; 
iv. kpf cau;e;j Md;kPf epiyia miltjw;fhf fLikahd Jwtwk; kw;Wk; jPtpu 

jtk; Mfpatw;iw typAWj;jpdhh; 
a. Nkw;$wpa midj;Jk;  b. i, ii, kw;Wk; iii  c. ii, iii, kw;Wk; iv 
d. i, iii kw;Wk; iv   e. tpil njupatpy;iy 

 

21. Which of the following pairs is not correctly matched? 
a. Dignaga-Sutralankara   b. Asvaghosha-Buddhacharita 
c. Nagarjuna-Madhyamikakarika  d. Nagasena-Milinda-Panho 
e. Answer not known 
gpd;tUk; ,izfspy; vJ rupahf nghUe;jtpy;iy?  
a. jpf;dfh - #j;uyq;fhuk;   b. m];tNfh~h-Gj;jr;rupj;juk;   
c. ehfhu;[{d-kj;akpfhupfh    d. ehfNrdh-kpype;jh-gd;N`h 
e. tpil njupatpy;iy 

 

22. Which one of the following is correctly matched? 
a. Prasenjit-Magadha  b. Pradyota-Kosala  c. Kalasoka-Avanti 
d. Udayana-Vatsa  e. Answer not known 
gpd;tUtdtw;Ws; vJ rupahf nghUe;JfpwJ? 
a. gpunrd;[pj;-kfjh  b. gpuj;Nahjh-Nfhryh c. fhyNrhfh-mte;jp 
d. cjaz-tj;]   e. tpil njupatpy;iy 

 

23. Who was Jivaka of the sixth century BC? 
a. The talented and scheming minister of Ajatasatru. 
b. Bimbisara’s personal physician send to cure the Avanti ruler of jaundice. 
c. The ruler of Anga who was defeated by Bimbisara. 
d. The prime minister of Dhana Nanda of Magadha. 
e. Answer not known 
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fp. K. Mwhk; E}w;whz;by; tho;e;j [Ptfh ahu;? 
a. m[hjrj;Utpd; jpwikAk; R+o;r;rpAk; nfhz;l ke;jpup. 
b. mte;jp kd;dUf;F kQ;rs; fhkhiy Fzg;gLj;j mDg;gg;gl;l gpk;gprhuhtpd; jdpg;gl;l 

kUj;Jtu;>  
c. gpk;gPruhthy; Njhw;fbf;fg;gl;l mq;fhtpd; Ml;rpahsu;>  
d. kfjj;jpd; jd ee;jhtpd; gpujku; 
e. tpil njupatpy;iy 

 
24. Match List I with List II and select the answer using the codes given below: 

List I    List II 
A. Maha vibbhasa  1. Nagasena 
B. Sutra/Ankara   2. Vasumitra 
C. Milinda panho  3. Nagarjuna 
D. Madhyamika Karika  4. Asanga 

A B C D 
a. 3 1 2 4 
b. 1 2 4 3 
c. 4 3 2 1 
d. 2 4 1 3 
e. Answer not known 
nghUj;Jf. 
gl;bay; I      gl;bay; II  
A. kfhtpghrh     1. ehfNrdh  
B. R+j;uh/mq;fhuh    2. thRkpj;uh 
C. kpype;jh gd;N`h    3. ehfhu;[{dh   
D. kj;akpfh fhupfh    4. mrq;fh 

A B C D 
a. 3 1 2 4 
b. 1 2 4 3 
c. 4 3 2 1 
d. 2 4 1 3 
e. tpil njupatpy;iy 

 

25. At which of the following councils was the Abhidhamma Pitaka written for the first 
time? 
a. Vaisali council  b. Pataliputra council  c. Kashmir council 
d. Rajgir  council e. Answer not known 
gpd;tUk; ve;j rq;fj;jpy; mgpjk;kh gplfh Kjd;Kjypy; vOjg;gl;lJ?  
a. itrhyp rq;fk;  b. ghlypGj;jpuh rq;fk;   c. fh~;kPu; rq;fk; 
d. uh[;fpu; rq;fk;  e. tpil njupatpy;iy 

 

26. Which of the following statements about the third Buddhist council is/ are true? 
i. It was held under the patronage of Asoka. 
ii. Its purpose was to settle the disputes arising out of rival claims to authority. 
iii. It resulted in the final compilation of the Tripitakas. 
iv. Its proceedings were conducted in Pali. 
Choose the answer from the codes given below: 
a. i, ii and iii   b. ii, iii and iv   c. only iii 
d. all of them    e. Answer not known 
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%d;whtJ Gj;j rq;fk; gw;wpa gpd;tUk; $w;Wfspy; vJ cz;ikahdJ? 
i. ,J mNrhfupd; jiyikapy; eilngw;wJ. 
ii. mjpfhuj;jpw;fhf Nghl;bapLk; cupikNfhuy;fshy; vOk; ru;r;irfisj; jPu;g;gNj mjd; 
Nehf;fk;. 
iii. ,J jpupgplfq;fspd; ,Wjpj; njhFg;gpw;F toptFj;jJ. 
iv. mjd; eltbf;iffs; ghypapy; elj;jg;gl;ld. 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;:                    
a. i, ii kw;Wk; iii   b. ii, iii kw;Wk; iv   c. iii  kl;Lk; 
d. Nkw;$wpa midj;Jk;  e. tpil njupatpy;iy 

 
27. Arrange the following Buddhist works in the chronological order. 

i. Milinda Panho  ii. Sutralankara iii. Tripitakas  iv. Mahavibhasa 
Select the answer from the codes below; 
a. i, ii, and iv   b. iii, i, iv and ii  c. ii, iii, iv and i  
d. iv, ii, i and iii    e. Answer not known 
gpd;tUk; ngsj;j gilg;Gfis fhytupirg;gLj;jTk; 
i. kpype;jh gd;N`h ii. R+j;uhyq;fhuh iii. jpupgplfq;fs; iv. kfhtpghrh 
fPo;f;fz;l FwpaPLfspy; ,Ue;J tpiliaj; Nju;e;njLf;fTk;; 
a. i, ii, kw;Wk; iv   b. iii, i, iv kw;Wk; ii  c. ii, iii, iv kw;Wk; i  
d. iv, ii, i kw;Wk; iii  e. tpil njupatpy;iy 

 
28. Arrange the following terms is the most appropriate to describe the Buddha? 

i. Nagasena   ii. Avanda   iii. Asvaghosha 
iv. Asanga   v. Moggaliputtta Tissa 
Select the answer from the codes given below: 
a. ii, v, i, iii and iv  b. i, iii, iv, ii and v  c. iii, ii, i, v and iv 

 d. iv, ii, v, i and iii   e. Answer not known 
Gj;jiu tptupf;Fk;  gpd;tUk; nrhw;fis tupirg;gLj;Jf?  
i. ehfNrdh      ii. mte;jh     iii. m];tNfh~h   
iv.mrq;fh    v. nkhfyPGj;j jp];]h  
fPo;f;fz;l FwpaPLfspy; ,Ue;J tpiliaj; Nju;e;njLf;fTk;: 
a. ii, v, i, iii kw;Wk; iv  b. i, iii, iv, ii kw;Wk; v  c. iii, ii, i, v kw;Wk; iv 

 d. iv, ii, v, i kw;Wk; iii  e. tpil njupatpy;iy 
 

29. Which of the following statements about Mauryan coinage is/ are incorrect? 
i. Mauryas issued a number of silver and copper punch-marked coins and also 

some silver bar coins. 
ii. They can be easily ascribed to particular Mauryan kings. 
iii. They enable us to know the economic conditions of the Mauryan period. 
iv. The symbols on the Mauryan coins are definitely official markings. 
Select the answer from the codes given below: 
a. only i   b. only ii   c. ii and iii 
d. ii and iv  e. Answer not known 
nksupa ehzaq;fs; gw;wpa gpd;tUk; $w;Wfspy; vJ jtwhdJ?  
i. nksupau;fs; gy nts;sp kw;Wk; nrk;G Kj;jpiu ehzaq;fisAk; rpy nts;spg; gl;il 
ehzaq;fisAk; ntspapl;ldu;. 
ii. mtw;iw rpy nksupa kd;du;fSld; vspjhf njhlh;GgLj;j KbAk; 
iii. mit nksupa fhyj;jpd; nghUshjhu epiyikfis mwpa cjTfpd;wd.  
iv. nksupa ehzaq;fspy; cs;s rpd;dq;fs; epr;rakhf mjpfhug;G+u;t milahsq;fs;.  
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fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J tpiliaj; Nju;e;njLf;fTk;:. 
a. i kl;Lk;   b. ii kl;Lk;   c. ii kw;Wk; iii 
d. ii kw;Wk; iv   e. tpil njupatpy;iy 

 
30. Who among the following was the Greek ambassador of Antiochus I of Syria send to 

the court of Bindusara? 
a. Megasthenes   b. Diodorous   c. Deimachus 
d. Antigonus   e. Answer not known 
gpd;tUtdtw;wpy; rpupahtpd; Kjyhk; mz;bNahf]pd; fpNuf;f J}ju; gpe;Jrhupd; 
ePjpkd;wj;jpw;F mDg;gg;gl;ltu; ahu;? 
a. nkf];jdp];      b. bNahNlhu];     c. ilkr;r];     
d. Md;bNfhd];   e. tpil njupatpy;iy 
 

31. Match List I with List II and select the answer using the codes given below the lists: 
List I     List II 
A. Antiyoka    1. Alexander of Epirus 
B. Antikini    2. Antiochus II Theos of Syria 
C. Alikasudara    3. Antigonus Gonatas of Macedonia 
D. Maka     4. Magas of Cyrene 
E. Turamaya    5. Ptolemy II Philadelphus of Egypt 

A B C D E 
a. 5 2 3 4 1 
b. 1 5 3 4 2 
c. 2 3 1 4 5 
d. 3 1 2 4 5 
e. Answer not known 
gl;bay; II gl;bay; II  cld; xg;gpl;L> gl;bay;fSf;F fPNo nfhLf;fg;gl;Ls;s 
FwpaPLfisg; gad;gLj;jp rupahd tpiliaj; Nju;e;njLf;fTk;. 
gl;bay; I      gl;bay; II 
A. me;jpNahfh     1. mnyf;rhz;lu; M/g; vgPu]; 
B. md;bfpdp     2. rpupahtpd; ,uz;lhk; me;jpNahf;f]; njNah];  

C. mypfhR+juh     3. khrpNlhdpahtpd; md;bNfhd]; Nfhdlh];  
D. khf;fh     4. rpNudpahtpd; khfh];     
E. Juhkhah     5. vfpg;jpd; ,uz;lhk; gpynlykp gpynly;g];  

A B C D E 
a. 5 2 3 4 1 
b. 1 5 3 4 2 
c. 2 3 1 4 5 
d. 3 1 2 4 5 
e. tpil njupatpy;iy 

 
32. Kantakasodhanas of the Mauryan period were 

a. Royal treasuries  b. Civil courts   c. Criminal courts 
d. Police stations   e. Answer not known 
nksupau; fhyj;jpd; fz;lfNrhjidfs; 
a. mur fUT+yq;fs;  b. rptpy; ePjpkd;wq;fs;     c. Fw;wtpay; ePjpkd;wq;fs;    
d. fhty; epiyaq;fs;  e. tpil njupatpy;iy   
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33. Nagaravyoharika - mahamattas of Asokan edicts were: 
a. Judicial officials   b. Revenue officials  c. Census officials 
d. Military officials  e. Answer not known 
ehfuhtpNah`hupfh - mNrhfh; fy;ntl;Lfspy; Fwpg;gplg;gl;Ls;s kfhkj;jhf;fs; 
a. ePjpj;Jiw mjpfhupfs;     b. tUtha;j;Jiw mjpfhupfs; 
c. kf;fs; njhif fzf;nfLg;G mjpfhupfs;   d. ,uhZt mjpfhupfs;  
e. tpil njupatpy;iy 
 

34. Match the following 
List I    List II 
A. Kalsi    1. Pakistan 
B. Sopara    2. Uttar Pradesh 
C. Manshera   3. Afghanistan 
D. Shahbazgarhi   4. Maharashtra 
     5. Bihar 

A B C D 
a. 5 4 3 1 
b. 4 5 1 3 
c. 2 1 3 4 
d. 2 4 1 3 
e. Answer not known 
nghUj;Jf.  
gl;bay; I      gl;bay; II 
A. fy;rp      1. ghfp];jhd; 
B. Nrhguh     2. cj;jug; gpuNjrk;  
C. kd;N~uh     3. Mg;fhdp];jhd; 
D. ~hgh];fu;`p    4. kfhuh~b;uh  

5. gPfhu; 
A B C D 

a. 5 4 3 1 
b. 4 5 1 3 
c. 2 1 3 4 
d. 2 4 1 3 
e. tpil njupatpy;iy 

 
35. Assertion (A): Rajukas were having the authority to punish and reward people. 

Reason: (R): Most of the rajukas were from the royal family. 
a. if both Assertion (A) and Reason (R) are correct, and if (R) is the correct explanation 

of (A) 
b. if only (R) is correct. 
c. if only (A) is correct  
d. if both (A) and (R) are correct, but (R) is not the correct explanation of (A). 
e. Answer not known 
$w;W (A):kf;fisj; jz;bf;fTk;> ntFkjp mspf;fTk; uh[{f;fhfSf;F mjpfhuk; 
,Ue;jJ.  
fhuzk;: (R):  ngUk;ghyhd uh[{f;fhf;fs; mur FLk;gj;ijr; Nru;e;jtu;fs;. 
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a. $w;W (A) kw;Wk; fhuzk; (R) ,uz;Lk; rup> kw;Wk; (R) vd;gJ (A) ,d; rupahd 
tpsf;fk; 

b. (R) kl;LNk rup 
c. (A) kl;LNk rup 
d. (A) kw;Wk; (R) ,uz;Lk; rup> Mdhy; (R) vd;gJ (A) ,d; rupahd tpsf;fk; my;y. 
e. tpil njupatpy;iy 

 
36. HCF of 23, 32, 4, 52 and 15 is 

a. 23 b. 32  c. 1 d. 360  e. Answer not known 
23, 32, 4, 52 kw;Wk; 15-d; kP.ngh.t 
a. 23 b. 32  c. 1 d. 360  e. tpil njhpatpy;iy 

 

37. Find the HCF of 
1 3 5 7 9

, , , ,
2 4 6 8 10

and 
1

12
 

a. 
1

2
 b. 

1

10
   c. 

9

120
  d. 

1

120
  e. Answer not known 

1 3 5 7 9
, , , ,

2 4 6 8 10
 kw;Wk; 

1

12
d; kP.ngh.t – it fz;Lgpb.  

a. 
1

2
 b. 

1

10
   c. 

9

120
  d. 

1

120
  e. tpil njhpatpy;iy 

 
38. The LCM of two numbers is 48. The numbers are in the ratio of 2 : 3. Find the sum of 

the numbers. 
a. 28 b. 32  c. 40  d. 64  e. Answer not known 
,uz;L vz;fspd; kP.ngh.k (LCM) 48 MfTk;> NkYk; me;j vz;fs; 2 : 3 vd;w 
tpfpjj;jpYk; ,Ue;jhy;> me;j ,U vz;fspd; $l;Lj; njhifahdJ vjw;F rkkhf 
,Uf;Fk;? 
a. 28 b. 32  c. 40  d. 64  e. tpil njhpatpy;iy 
 

39. The L.C.M of two numbers is 495 and their H.C.F is 5. If the sum of the numbers is 100 
then their different is  
a. 10 b. 46  c. 70  d.90  e. Answer not known 
,U vz;fSf;Fhpa kPr;rpW kjpg;G 495. NkYk; mt;tpU vz;fspd; kPg;ngU kjpg;G 5. ,U 
vz;fspd; $l;L njhif 100 vdpy; mt;tpU vz;fspd; tpj;jpahrk; vd;d? 
a. 10 b. 46  c. 70  d.90  e. tpil njhpatpy;iy 

 

40. The least number which when divided by 5,6,7and 8 leaves a remainder 3,but when 
divided by 9 leaves no remainder is 
a. 1678  b. 1683 c. 2523  d. 3363 e. Answer not known 
5>6>7>8 My; tFgLk; NghJ kPjp 3-k; 9 My; tFgLk; NghJ kPjp g+[;ak;   tuf;$ba 
kpfr; rpwpa vz;zhdJ 
a. 1678  b. 1683 c. 2523  d. 3363 e. tpil njhpatpy;iy 

 

41. Which of the following statements are incorrect 
i. Chandragupta Maurya belonged to the Maurya tribe 
ii. Chadragupta was known to the Greeks as ‘Amitrochates’ or the destroyer of foes. 
iii. Chandragupta and his followers are superior in arms to Dhana Nanda and his 

soldiers. 
iv. Chandragupta is said to have died of self- starvation in South India. 
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a. i and iii   b. ii and iv    c. iii and iv 
d. ii and iii  e. Answer not known 
gpd;tUk; $w;Wfspy; vJ jtwhdJ?  
i. re;jpuFg;j nksupah; nksupah; tk;rj;ijr; Nru;e;jtu;.  

ii. rj;uFg;jh; fpNuf;fu;fshy;  mkpl;NuhNfl;];  my;yJ vjpupfis mopg;gtu; vd;W 
mwpag;gl;lhu;.  

iii. re;jpuFg;jhTk; mtuJ rPlu;fSk; jd ee;jh kw;Wk; mtuJ tPuu;fis tpl MAjj;jpy; 
gyk; tha;e;jth;fs; 

iv. re;jpuFg;jh njd;dpe;jpahtpy; tlf;fpUe;J caph; Jwe;jjhff; $wg;gLfpwJ. 
a. i kw;Wk; iii  b. ii kw;Wk; iv    c. iii kw;Wk; iv 
d. ii kw;Wk; iii  e. tpil njupatpy;iy 

 
42. Which of the following about the Mauryan coinage are correct? 

i. Mauryas issued a good number of punchmarked coins. 
ii. The coins of Asoka were more than, that of any , other Mauryan ruler. 
iii. They enable us to know about the economic conditions of the Mauryan period. 
iv. The symbols of the Mauryan coins are definitely official markings. 
Choose the answer from the codes given below; 
a. i and iii   b. i and ii   c. ii and iii 
d. i, iii and iv  e. Answer not known 
nksupa ehzaq;fs; gw;wpa gpd;tUk; ve;jf; fUj;J rupahdJ?  
i. nksupah;fs; Vuhskhd Kj;jpiu ehzaq;fis ntspapl;ldu;.  
ii. mNrhfupd; ehzaq;fs; NtW ve;j nksupa Ml;rpahsupd; ehzaq;fisf; fhl;bYk; 
mjpfkhf ,Ue;jd.  
iii. nksupa fhyj;jpd; nghUshjhu epiyikfis mwpa ,it cjTfpd;wd.  
iv. nksupa ehzaq;fspd; rpd;dq;fs; epr;rakhf mjpfhug;G+u;t milahsq;fshFk;.  
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;. 
a. i kw;Wk; iii  b. i kw;Wk; ii   c. ii kw;Wk; iii 
d. i, iii kw;Wk; iv  e. tpil njupatpy;iy 
 

43. Which one of the following literary works refers to a famine in Magadha lasting for 12 
years? 
a. Vamsathapakasini b. Parisistaparvam  c. Divyavadana 
d. Kalpasutra  e. Answer not known 
gpd;tUk; ve;j ,yf;fpag; gilg;G kfjj;jpy; 12 Mz;Lfs; ePbj;j gQ;rj;ijg; gw;wp 
Fwpg;gpLfpd;wd?  
a. tk;rjhgfhrpdp    b. guprp];jgu;tk;     c. jpt;atjdh   
d. fy;gR+j;uh  e. tpil njupatpy;iy 
 

44. Which of the following castes were prevalent in the Mauryan society according to 
Megasthenes? 
i. Philosophers ii. Slaves iii. Magistrates iv. Councillors 
Select the answer from the codes below: 
a. all of them except i   b. all of them except ii  
c. all of them except iii   d. all of them except iv  
e. Answer not known 
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nkf];jdP]pd; $w;Wg;gb> nksupa rKjhaj;jpy; gpd;tUk; ve;j tFg;gpdh; ,Ue;jdu;?  
i. jj;Jtthjpfs;  ii. mbikfs;  iii. ePjpgjpfs;   iv. fTd;rpyu;fs;  
fPNo cs;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;:  
a. Nkw;$wpa midj;Jk; i jtpu  b. Nkw;$wpa midj;Jk; ii jtpu 
c. Nkw;$wpa midj;Jk; iii jtpu   d. Nkw;$wpa midj;Jk; iv jtpu 
e. tpil njupatpy;iy 
 

45. Which of the following books is considered as the Gupta equivalent to Kautilya’s 
Arthasastra of the Mauryas? 
a. Kamandaka’s Nitisara b. Kaliyugaraja Vrithantha  c. Narada Smriti  
d. Brihaspati Smriti  e. Answer not known 
fPo;f;fz;l E}y;fspy; vJ nksupau;fspd; nfsby;a  mu;j;jrh];jpuj;jpw;F rkkhd Fg;j 
E}yhff; fUjg;gLfpwJ?  
a. fhke;jfpapd; ePjprhuk;  b. fypAfuh[ tpupje;jh   c. ehuj ];kpUjp  
d. gpuf];gjp ];kpUjp  e. tpil njupatpy;iy 

 
46. Which of the following works tells us about the succession of Chandragupta I to the 

throne? 
a. Devichandraguptam  b. Kaumudi Mahotsava  c. Mrichchhakatika  
d. Abhigyana Sakuntalam e. Answer not known 
Kjyhk; re;jpuFg;ju; mupaizf;F te;jijg; gw;wp gpd;tUk; ve;j E}y; $WfpwJ? 
a. Njtpr;re;jpuFg;jk;     b. nfsKb kN`hj;rth    c. kpUr;rf;fbfh 
d. mgpf;ahd rFe;jyk;  e. tpil njupatpy;iy 

 

47. Which of the following Gupta inscriptions is said to contain the most decisive evidence 
in favour of the exclusive ownership of land by the state or the king? 
a. Allahabad prasasti  b. Bhitari prasasti  c. Paharpur copper plate 
d. Junagarh rock inscription e. Answer not known 
fPo;f;fz;l Fg;j fy;ntl;Lfspy; vJ> epyk; muRf;F my;yJ murUf;F kl;LNk 
nrhe;jkhdJ vd;gjw;F kpfTk; cWjpahd Mjhuq;fisf; nfhz;Ls;sJ vd;W 
$wg;gLfpwJ? 
a. myfhghj; nka;f;fPu;j;jp    b. gplhup nka;f;fPu;j;jp     c. g`u;G+u; nrg;G jfL      
d. [{dhfu; ghiw fy;ntl;L e. tpil njupatpy;iy 

 

48. The Gupta coins give us information about  
i. Chronology and territory of the Guptas 
ii. Personal life, tastes and hobbies of the Guptas 
iii. Script and science of metallurgy of the Guptas 
iv. Economic conditions of the Guptas period 
Choose the answer from the codes below: 
a. i, ii and iii   b. ii, iii and iv  c. i, iii and iv 
d. all of them   e. Answer not known 

     Fg;j ehzaq;fs; gpd;tUk; ve;j  jfty;fis  jUfpd;wd? 
i. Fg;jh;fspd; fhytupir kw;Wk; Ml;rpg;gug;G 
ii. Fg;jh;fspd; jdpg;gl;l tho;f;if> Ritfs; kw;Wk; nghOJNghf;Ffs;  
iii. Fg;jh;fspd; vOj;J kw;Wk; cNyhftpay; mwptpay;  
iv. Fg;jh;fspd; fhyj;jpd; nghUshjhu epiyikfs;  
fPNo cs;s FwpaPLfspypUe;J tpiliaj; Nju;Tnra;f: 
a. i, ii kw;Wk; iii   b. ii, iii kw;Wk; iv  c. i, iii kw;Wk; iv  
d. Nkw;$wpa midj;Jk ; e. tpil njupatpy;iy 



 

16 | Page  044-24339436, 42867555, 9840226187 
 

49. The five pratyanta or border states, as mentioned in the Allahabad prasasti include 
i. Samtata   ii. Davaka   iii. Vanga 
iv. Kamarupa  v. Nepala   vi. Karthipura 
Choose the answer from the codes given below: 
a. i, ii, iv, v and vi  b. ii, iii, iv, v and vi  c. i, iii, iv, v and vi 
d. i, ii, iii, iv and v  e. Answer not known 
myfhghj; nka;f;fPu;j;jpapy; Fwpg;gplg;gl;Ls;s Ie;J gpuj;ae;jhf;fs; my;yJ vy;iy 
khepyq;fs; gpd;tUkhW.  
i. rk;jhjh   ii. jthf;fh   iii. tq;fh   
iv. fhk&gh.   v Neghsh    vi. fhu;j;jpGuh  
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J tpiliaj; Nju;T nra;aTk;: 
a. i, ii, iv, v kw;Wk; vi  b. ii, iii, iv, v kw;Wk; vi c. i, iii, iv, v kw;Wk; vi 
d. i, ii, iii, iv kw;Wk; v  e. tpil njupatpy;iy 
 

50. Match the following: 
List I     List II 
(Gupta emperors)  (Inscriptions) 
A. Samudragupta  1. Baigram copper plate 
B. Kumaragupta I  2. Paharpur copper plate 
C. Chandragupta II  3. Eran Stone Piller 
D. Buddhagupta   4. Unagarh Rock 
E. Skandagupta   5. Udayagiri caves 
 A B C D E 
a. 4 2 3 1 5 
b. 3 1 5 2 4 
c. 3 5 4 1 2 
d. 2 3 1 4 5 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf:  
gl;bay; I    gl;bay; II  
(Fg;j Nguuru;fs;)   (fy;ntl;Lfs;) 
A.  rKj;jpuFg;jh;   1. igfpuhk; nrg;Gj; jfL  
B. Kjyhk; FkhuFg;jh;   2. g`u;G+u; nrg;Gj; jfL  
C. ,uz;lhk; re;jpuFg;jh  3. Vud; fy; J}z;  
D. Gj;jFg;jh;    4. cdhfu; ghiw  
E. ];fe;jFg;jh;    5. cjafpup Fiffs; 
 A B C D E 
a. 4 2 3 1 5 
b. 3 1 5 2 4 
c. 3 5 4 1 2 
d. 2 3 1 4 5 
e. tpil njupatpy;iy 
 

51. Arrange the following famous ancient Indian astronomers and mathematicians in the 
chronological order. 
i. Varahamihira  ii. Bhaskara  iii. Aryabhatta iv. Brahmagupta 
Select the answer from the codes given below: 
a. i, iii, iv, ii   b. iii, i, iv, ii   c. ii, iv, i, iii 
d. iv, ii, iii, i   e. Answer not known 



 

17 | Page  044-24339436, 42867555, 9840226187 
 

gpd;tUk; Gfo;ngw;w gz;ila ,e;jpa thdpayhsu;fs; kw;Wk; fzpjtpayhsu;fis 
fhytupirg;gLj;Jf 
i. tuh`kp`puh  ii. gh];fuh   iii. Mu;agl;lh  iv. gpuk;kFg;jh  
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. i, iii, iv, ii   b. iii, i, iv, ii   c. ii, iv, i, iii 
d. iv, ii, iii, i   e. tpil njupatpy;iy 

 
52. Match List I with List II and select the answer using the codes given below: 

List I     List II 
A. Sudraka   1. Devichandraguptam 
B. Vajjika    2. Harivamsa Purana 
C. Visakhadatta   3. Mrichchhakatika 
D. Jinasena Suri   4. Tilsya Pannati 
E. Yati Vrishaha   5. Kaumudi Mahotsava 
 A B C D E 
a. 3 5 1 2 4 
b. 3 4 1 5 2 
c. 1 2 3 4 5 
d. 2 3 4 5 1 
e. Answer not known 
nghUj;Jf.  
gl;bay; I      gl;bay; II 
A. Rj;uhfh     1. Njtpr;re;jpuFg;jk;  
B. t[;[pfh     2. `uptk;r Guhzk;  
C. tprhfjj;jh     3. kpUr;rfbfk; 
D. [PdNrd R+up     4. jpy;rah gd;djp  
E. ajp tpu;~h`h    5. nfsKb kN`hj;rth 

A B C D E 
a. 3 5 1 2 4 
b. 3 4 1 5 2 
c. 1 2 3 4 5 
d. 2 3 4 5 1 
e. tpil njupatpy;iy 

 
53. Assertion (A): The Gupta period is rightly called the ‘Golden Age’ of Sanskrit 

    grammar and literature. 
Reason (R): The Sakas and the Kushanas and even the Mahayana Buddhists 
    patronised Sanskrit much before the imperial Guptas. 
a. if both (A) and (R) are correct and (R) justifies or explains (A). 
b. if both (A) and (R) are correct but (R) does not explain or justify (A). 
c. if only (A) is correct. 
d. if only (R) is correct. 
e. Answer not known 
$w;W (A): Fg;ju; fhyk; rk];fpUj ,yf;fzk; kw;Wk; ,yf;fpaj;jpd; nghw;fhyk; vd;W  

rhpahf miof;fg;gLfpwJ.  
fhuzk; (R): rfh;fs;> F~hzu;fs; kw;Wk; kfhahd ngsj;ju;fs; MfpNahh; Fg;ju;fSf;F 
Kd;Ng rk];fpUjj;ij Mjupj;jdu;. 
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a. (A) kw;Wk; (R) ,uz;Lk; rupahdit kw;Wk; (A) I (R)  tpsf;FfpwJ. 
b. (A) kw;Wk; (R) ,uz;Lk; rupahdit kw;Wk; (A) I (R)  tpsf;ftpy;iy 
c. (A) kl;LNk rup 
d. (R) kl;LNk rup 
e. tpil njupatpy;iy 

 
54. Assertion (A):Trade and commerce were on the general decline during the Gupta 

period. 
Reason (R): Guptas issued the largest number of gold coins in ancient India. 
a. if both (A) and (R) are correct and (R) explains (A). 
b. if both (A) and (R) are correct and (R) does not explain (A). 
c. if only (A) is correct. 
d. if only (R) is correct. 
e. Answer not known 
$w;W (A): Fg;ju; fhyj;jpy; tu;j;jfk; kw;Wk; tpahghuk; nghJthf tPo;r;rpaile;jJ.  
fhuzk; (R): gz;ila ,e;jpahtpy; mjpf vz;zpf;ifapyhd jq;f ehzaq;fis 
    Fg;ju;fs; ntspapl;ldu;. 
a. (A) kw;Wk; (R) ,uz;Lk; rupahdit kw;Wk; (A) I (R) tpsf;FfpwJ 
b. (A) kw;Wk; (R) ,uz;Lk; rupahdit kw;Wk; (A) I (R) tpsf;ftpy;iy 
c. (A) kl;LNk rup 
d. (R) kl;LNk rup 
e. tpil njupatpy;iy 

 
55. Who was founder of the Chalukyas of Badami? 

a. Kirtivarman I   b. Vikramaditya I   c. Pulakesin I 
d. Vijayaditya   e. Answer not known 
ghjhkp rhYf;fpau;fspd; epWtdu; ahu;?  
a. Kjyhk; fPu;j;jptu;kd;   b. Kjyhk; tpf;ukhjpj;ah    c. Kjyhk; GyNfrp 
d. tp[ahjpj;ah   e. tpil njupatpy;iy 
 

56. Assertion (A): Harsha is reported to have brought a tooth relic of the Buddha from 
    Kashmir. 
Reason (R):  Kashmir was annexed by Harsha in one of his military campaigns. 
a. if only (A) is true. 
b. if only (R) is true. 
c. if both (A) and (R) are true and (R) is the correct explanation for (A). 
d. if both (A) and (R) are true but (R) is not the correct explanation for (R). 
e. Answer not known 
$w;W (A):  `u;~h fh~;kPupypUe;J Gj;jupd; gy; jpUr;rpd;dj;ij nfhz;L 
    te;jjhff; $wg;gLfpwJ.  
fhuzk; (R):  `u;~h jdJ ,uhZt gilnaLg;Gfspy; xd;wpy; fh~;kPiu ,izj;jhu;. 
a. (A) kl;LNk rup 
b. (R) kl;LNk rup 
c. (A) kw;Wk; (R) ,uz;Lk; rup (A) I (R)  tpsf;FfpwJ 
d. (A) kw;Wk; (R) ,uz;Lk; rupahf ,Ue;jhy; (A) I (R) tpsf;ftpy;iy 
e. tpil njupatpy;iy 
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57. Bana was the author of  
i. Parvati Parinay  ii. Kadambari  iii. Harshacharita   
iv. Panchatantra   v. Ratnamalika 
a. i, ii and iii   b. ii, iii and iv  c. iii, iv and v 
d. i, iii and iv   e. Answer not known 
ghdh  vjDila Mrpupau; Mthu;? 
i. ghu;tjp gupza;   ii. fhjk;gup    iii. `u;~rupjh  
iv. gQ;rje;jpuk;    v. uj;dkhypfh 
a. i, ii and iii   b. ii, iii and iv  c. iii, iv and v 
d. i, iii and iv   e. tpil njupatpy;iy 

 
58. Consider the following statements 

Assertion (A):  In the post – Gupta period hardly any coin can be ascribed with 
certainty to any ruling house. 
Reason (R):According to Hiuen Tsang, governors, ministers, magistrates and other 
officials had each a portion of land assigned to them for their personal support. 
In the context of the above two statements which one of the following is correct? 
a. Both A and R are true and R is the correct explanation of A. 
b. Both A and R are true but R is not a correct explanation of A. 
c. A is true but R is false. 
d. A is false but R is true. 
e. Answer not known 
gpd;tUk; $w;Wfis ftdpAq;fs; - xd;W $w;W (A) vd;Wk; kw;nwhd;W fhuzk; (R) 
vd;Wk; Fwpf;fg;gl;Ls;sJ.  
$w;W (A): Fg;j fhyj;jpw;Fg; gpe;ija fhyj;jpd; ehzaq;fis ve;jnthU mur  
        tk;rj;JlDk; njhlh;GgLj;j KbahJ 
fhuzk; (R): Athd; Rthq;fpd; $w;Wg;gb> MSeu;fs;> mikr;ru;fs;> ePjpgjpfs; kw;Wk; 
    gpw mjpfhupfs; xt;nthUtUf;Fk; jdpahf xU gFjp 
    epyk; xJf;fg;gl;lJ. 
a. A kw;Wk; R ,uz;Lk; rhp> R vd;gJ A ,d; rupahd tpsf;fk;.  
b. A kw;Wk; R ,uz;Lk; rhp> Mdhy R vd;gJ A ,d; rupahd tpsf;fk; my;y. 
c. A rupahdJ Mdhy; R jtwhdJ 
d. A jtwhdJ Mdhy; R rupahdJ  
e. tpil njupatpy;iy  
 

59. Which Chalukya ruler is credited with repelling the Arab invasion of South Gujarat? 
a. Vikramaditya I  b. Pulakesin I    c. Pulakesin II 
d. Vikramaditya II  e. Answer not known 
njw;F F[uhj;jpy; mNugpa gilnaLg;ig Kwpabj;j rhSf;fpa Ml;rpahsu; ahu;?  
a.  Kjyhk; tpf;ukhjpj;ah     b. Kjyhk; GyNfrp   c. ,uz;lhk; GyNfrp 
d. ,uz;lhk; tpf;ukhjpj;ah  e. tpil njupatpy;iy  

 
60. Which one of the following pairs is correctly matched? 

a. Vijayaditya  - invaded the pallava kingdom three times. 
b. Kirtivarman II - longest and most peaceful reign. 
c. Vikramaditya I- drove out the occupying pallava forces from Badami. 
d. Vikramaditya II- last Badami Chalukya overthrown by Dantidurga. 
e. Answer not known 
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gpd;tUk; ,izfspy; vJ rupahf nghUe;JfpwJ? 
a.  tp[ahjpj;ah - gy;yt Nguuir %d;W Kiw gilnaLj;jhu;.  
b. ,uz;lhk; fPu;j;jptu;kd;  - kpf ePz;l kw;Wk; mikjpahd Ml;rp.   
c. Kjyhk; tpf;ukhjpj;ah  - gjhkpapy; ,Ue;J gy;ytg; gilfis ntspNaw;wpdhu;.  
d. ,uz;lhk; tpf;ukhjpj;ah - filrp ghjkp rhYf;fpau;> je;jpJu;fhthy; tPo;j;jg;gl;lhu;. 
e. tpil njupatpy;iy 

 
61. Which among the following temples at pattadakal is said to begin the Deccan style of 

architecture? 
a. Virupaksha temple  b. Sangamesvara temple  c. Papanatha temple 
d. Kapolesvara temple  e. Answer not known 
gl;llf;fy;ypy; cs;s gpd;tUk; Nfhapy;fspy; vJ jf;fhz fl;blf;fiy ghzpiaj; 
njhlq;fpaJ vd;W $wg;gLfpwJ? 
a. tpUg;ghf;~h Nfhapy;   b rq;fNk];tuu; Nfhapy;    c. ghg;gehju; Nfhapy;   
d. fNghy];tuu; Nfhapy;  e. tpil njupatpy;iy 
 

62. Match the following: 
List I    List II 
A. Mahendra group  1. Kailasanatha temple at Kanchi 
B. Narasimha group  2. Muktesvara temple at Kanchi 
C. Rajasimha group  3. Rock-cut temples at Bhairavakonda. 
D. Nandi group   4. Monolithic temple at Mahabalipuram 

A B C D 
a. 3 4 1 2 
b. 4 1 2 3 
c. 1 2 4 3 
d. 2 3 4 1 
e. Answer not known 
gpd;tUtdtw;NwhL nghUj;Jf:  
gl;bay; I    gl;bay; II 
A.  kNfe;jpuh FO   1. fhQ;rpapy; cs;s ifyhrehju; Nfhapy;.  

B.  eurpk;k FO    2. fhQ;rpapy; cs;s Kf;Nj];tuu; Nfhapy; 
C. uh[rpk;`h FO   3. igutnfhz;lhtpy; ghiw ntl;lg;gl;l Nfhapy;fs;..  
D. ee;jp FO    4. kfhgypGuj;jpy; cs;s xw;iwf;fy; Nfhapy; 

A B C D 
a. 3 4 1 2 
b. 4 1 2 3 
c. 1 2 4 3 
d. 2 3 4 1  
e. tpil njupatpy;iy 
 

63. Who was the author of Dasakumaracharitam and at whose court did he live? 
a. Dandin- Nandivarman II   b. Bharavi- Nandivarman II 
c. Appar- Dantivarman    d. Andal- Mahendravarman I 
e. Answer not known 
jhrFkhurhpjk; vOjpatu; ahu;> mtu; ahUila muz;kidapy; tho;e;jhu;?  
a.  jz;bd;- ,uz;lhk; ee;jptu;kd;   b. ghutp - ,uz;lhk; ee;jptukd;    
c. mg;gu;- jz;btu;kd;     d. Mz;lhs; - Kjyhk; kNfe;jputu;kd;  
e. tpil njupatpy;iy 
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64. Match List I with List II and select the answer from the codes given below; 
List I     List II 
A. Simhavishnu   1. Gunabhara 
B. Narasimhavarman I  2. Rajasimha 
C. Narasimhavarman II  3. Avanisimha 
D. Mahendravarman I  4. Vatapikondan 
 A B C D 
a. 2 1 3 4 
b. 3 2 4 1 
c. 3 4 1 2 
d. 3 4 2 1  e. Answer not known 
nghUj;Jf.  
gl;bay; I    gl;bay; II 
A. rpk;`tp~;Z   1. Fzghuh  
B. Kjyhk; eurpk;ktukd;   2. uh[rpk;`h  
C. ,uz;lhk; eurpk;ktukd;  3. mtdprpk;`h  
D. Kjyhk; kNfe;jputu;kd;  4. thjhgpnfhz;lhd; 
 A B C D 
a. 2 1 3 4 
b. 3 2 4 1 
c. 3 4 1 2 
d. 3 4 2 1  e. tpil njupatpy;iy 
 

65. Which one of the following temples was not dedicated to Lord Vishnu? 
a. Ranganatha temple at Srirangam   
b. Vithoba temple at Pandharpur 
c. Jagannatha temple at Puri 
d. Lingaraja temple at Bhuvanesvar 
e. Answer not known 
fPo;f;fz;l Nfhapy;fspy; vJ tp~;Z gfthDf;F mu;g;gzpf;fg;gltpy;iy? 
a. =;uq;fk; gFjpapy; cs;s uq;fehju; Nfhapy;  
b. ge;ju;G+upy; cs;s tpNjhgh Nfhapy;  
c. G+up efupy; cs;s [fd;dhju; Nfhapy;  
d. GtNd];tupy; cs;s ypq;fuh[h Nfhapy; 
e. tpil njupatpy;iy 
 

66. The famous battle of Waihind (AD 1001) took place between 
a. Rajaraja Chola I and Vikramaditya IV 
b. Bhima I and Mahmud of Ghazni 
c. Indra III and Mahipala 
d. Jaipala and Mahmud of Ghazni 
e. Answer not known 
gpugykhdit `pe;j; Nghu; (fp.gp. 1001) ,th;fSf;F ,ilNa eilngw;wJ 
a. Kjyhk; uh[uh[h Nrhou; kw;Wk; ehd;fhk; tpf;ukhjpj;au;  
b. Kjyhk; gPkh kw;Wk; f[pdp KfkJ 
c. %d;whk; ,e;jpuh kw;Wk; kfpghyh   
d. n[a;ghyh kw;Wk; f[pdp KfkJ 
e. tpil njupatpy;iy 
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67. Jayadeva’s Gita Govinda deals with the cult of 
a. Rama  b. Krishna  c. Siva  d. Sakti  e. Answer not known 
n[aNjtupd; fPjh Nfhtpe;jk;> ve;j nja;tj;ij topgLtijf; Fwpf;fpwJ? 
a. uhkh  b. fpU~;zh  c. rpth  d. rf;jp e. tpil njupatpy;iy 
 

68. Which one of the following is incorrectly paired? 
a. Rajaraja I- Rajakesari    b. Rajendra I- Pandita Chola 
c. Kulottunga I- Sungam Tavirta Chola d. Rajadhiraja- Ahalanka 
e. Answer not known 
gpd;tUtdtw;wpy; vJ jtwhf ,izf;fg;gl;Ls;sJ?  
a. Kjyhk; ,uh[uh[h - uh[Nfrup   
b. Kjyhk; ,uhN[e;jpud; - gz;bj Nrhod;;  
c. Kjyhk; FNyhj;Jq;fd; - Rq;fk; jtu;j;j Nrhod;  
d. ,uh[hjpuh[h - m`yq;fh 
e. tpil njupatpy;iy 
 

69. Which Chola emperor received a letter on golden leaves from the Burmese king, 
Kyanzittha? 
a. Rajaraja I   b. Rajendra I   c. Kulottunga I 
d. Rajadhiraja   e. Answer not known 
ve;j Nrho Nguuru; gu;kh kd;du; fpahd;rpj;jhtplk; ,Ue;J jq;f ,iyfspy; fbjk; 
ngw;whu;? 
a.  Kjyhk; ,uh[uh[d;  b. Kjyhk; ,uhN[e;jpud; c. Kjyhk; FNyhj;Jq;fd;  
d. ,uh[hjpuh[h   e. tpil njupatpy;iy 
  

70. Arrange the following administrative units of the Chola period in the descending order: 
i. Valanadus  ii. Nadus  iii. Mandalams  iv. Kurrams 
Choose the answer from the codes given below: 
a. i, iii, ii, iv  b. iii, i, ii, iv   c. ii, iv, i, iii 
d. iv, i, ii, iii  e. Answer not known 
Nrhou; fhyj;jpd; gpd;tUk; epu;thf mikg;Gfis ,wq;F tupirapy; tupirg;gLj;jTk;:  
i. tsehLfs;   ii. ehLfs;    iii. kz;lyq;fs;     iv. $w;wk; 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. i, iii, ii, iv  b. iii, i, ii, iv   c. ii, iv, i, iii 
d. iv, i, ii, iii  e. tpil njupatpy;iy 
 

71. Match List I with List II and select the answer using the codes given below the lists: 
List I    List II 
A. Sulaiman   1. Indra III, Rashtrakuta 
B. Al- Masudi   2. Dharmapala, Pala  
C. Marco Polo   3. Bhoja, Gurjara Pratihara 
     4. Rudramadevi 
 A B C 
a. 2 3 4 
b. 4 1 2 
c. 3 1 4 
d. 3 4 2 
e. Answer not known  

  



 

23 | Page  044-24339436, 42867555, 9840226187 
 

nghUj;Jf.  
gl;bay; I    gl;bay; II 
A. Riykhd;    1. %d;whk; ,e;jpuh> uh~;bu$lh; 
B. my;- kR+jp    2. ju;kghyh;> ghyh;  
C. khu;Nfh NghNyh   3. Ngh[h> Fu;[huh gpujp`huh  

4. Uj;ukhNjtp  
A B C 

a. 2 3 4 
b. 4 1 2 
c. 3 1 4 
d. 3 4 2 
e. tpil njupatpy;iy 
 

72. Consider List I and List II 
List I     List II 
i. Yadavas  -  Bhillama 
ii. Kakatiyas  -  Beta Raja 
iii. Eastern Gangas -  Anantavarman 
iv. Senas   -  Vijayasena 
v. Pratiharas  -  Vatsaraja 
Which of the above are correctly matched?  
Select the answer from the codes given below: 
a. i, ii and iii   b. ii, iii, and iv   c. i, iii, iv and v 
d. all of them   e. Answer not known 
gl;bay; I kw;Wk; gl;bay; II If; ftdpAq;fs; 
gl;bay; I     gl;bay; II 
i. ahjtu;fs;   -   gpy;yhkh  
ii. fhf;fj;jpah;fs;  -   gPl;lh uh[h  
iii. fPio fq;fh;fs;  -   mde;jtu;kd; 
iv. Nrdh];   -   tp[aNrdh 
v. gpujp`uhf;fs;  -   tj;ruh[h 
Nkw;fz;ltw;Ws; vJ rupahf nghUe;JfpwJ?  
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J tpiliaj; Nju;e;njLf;fTk;:  
a. i, ii kw;Wk; iii   b. ii, iii kw;Wk; iv   c. i, iii, iv kw;Wk; v 
d. Nkw;$wpa midj;Jk;  e. tpil njupatpy;iy 

 
73. The celebrated drama, Harikeli Nataka, was written by the Chauhan ruler 

a. Prithviraja I   b. Prithviraja III  c. Vigraharaja III 
d. Somesvara   e. Answer not known 
Gfo;ngw;w ehlfk;> `upNfyp ehlfk;> ve;j rTfhd; Ml;rpahsuhy; vOjg;gl;lJ? 
a. Kjyhk; gpUj;tpuh[h   b. %d;whk; gpUj;tpuh[h    c. %d;whk; tpf;u`huh[h   
d. NrhNk];tuh   e. tpil njupatpy;iy 
 

74. Which Rashtrakuta king built the new capital city of Manyakheta/ 
a. Indra II   b. Krishna II   c. Amoghavarsha I 
d. Govinda I  e. Answer not known 
ve;j uh~;l;u$l kd;du; kh;d;aNfjh vd;w Gjpa jiyefiuf; fl;bdhu;?  
a. ,uz;lhk; ,e;jpuh; b. ,uz;lhk; fpU~;zh; c. Kjyhk; mNkhftu;~h; 
d. Kjyhk; Nfhtpe;jh; e. tpil njupatpy;iy 
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75. Which Chola ruler was defeated by the Rashtrakuta king, Krishna III, in the famous 
battle of Takkolam? 
a. Aditya    b. Kulottunga I   c. Rajadhiraja 
d. Parantaka I   e. Answer not known 
ve;j Nrho Ml;rpahsu;> gpugykhd jf;Nfhyk; Nghupy; uh~;bu$lh; kd;du; %d;whk; 
fpU~;zuhy; Njhw;fbf;fg;gl;lhu;? 
a. Mjpj;ah   b. Kjyhk; FNyhj;Jq;fd;   c. uh[jpuh[h  
d. Kjyhk; guhe;jfd;  e. tpil njupatpy;iy 
 

76. Find the HCF (or) GCD of the following : 3 2 4( 1),( 1)x x x x− + − −  

a. 2( 1)( 1)x x− −   b. 2( 1)( 1)x x+ −    c. 2( 1)( 1)x x− +   

d. 2( 1)( 1)x x+ +   e. Answer not known 

gpd;tUtdtw;wpd; kP.ngh.t. fhz;f. 3 2 4( 1),( 1)x x x x− + − −  

a. 2( 1)( 1)x x− −   b. 2( 1)( 1)x x+ −    c. 2( 1)( 1)x x− +   

d. 2( 1)( 1)x x+ +   e. tpil njhpatpy;iy 
 

77. Find the LCM of 5 10x−  and 25 20x −  
a. 5(x - 2)   b. 5(x + 2)   c. (x - 2) (x + 2) 
d. 5 (x - 2)(x + 2)  e. Answer not known 
kP.ngh.k fhz;f: 5 10x−  , 25 20x −  
a. 5(x - 2)   b. 5(x + 2)   c. (x - 2) (x + 2) 
d. 5 (x - 2)(x + 2)  e. tpil njupatpy;iy 

 

78. Find the LCM: 
2 2 216 , 12 ,8m m n n−  

a. -16 mn  b. -16 2 2m n  c. -48 2 2m n  d. 48 2 2m n  e. Answer not known 
kP.ngh.k. fhz;f: 

2 2 216 , 12 ,8m m n n−  

a. -16 mn  b. -16 2 2m n  c. -48 2 2m n  d. 48 2 2m n  e. tpil njupatpy;iy 
 

79. What is the smallest 5 digit number that is exactly divisible by 72 and 108? 
a. 10152  b. 10052 c. 10502 d. 10512  e. Answer not known 
72 kw;Wk; 108 Mfpa vz;fshy; rhpahf tFglf;$ba kpfr;rpwpa 5 ,yf;f vz; vd;d 
a. 10152 b. 10052 c. 10502 d. 10512  e. Answer are known 

 

80. The product of 2 two digit numbers is 300 and their H.C.F. is 5 then the two numbers 
are 
a. 30, 20  b. 25,12 c. 10,30 d. 15, 20 e. Answer not known 
,uz;L <upyf;f vz;fspy; ngUf;fw;gyd; 300 kw;Wk; mtw;wpd; kP.ngh.fh. 5 vdpy; 
mt;ntz;fs; ahit? 
a. 30, 20  b. 25,12 c. 10,30 d. 15, 20 e. tpil njupatpy;iy 
 

81. Match List I with List II and select the answer using the codes given below the lists: 
List I     List II 
A. Jayadeva    1. Pavanadwar 
B. Dhoyi     2. Prithviraj Raso 
C. Kamban    3. Ramanataka 
D. Sekkilar    4. Gita Govinda 
E. Chand Bardai    5. Periya Puranam 
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A B C D E 
a. 1 4 3 2 5 
b. 2 3 5 1 4 
c. 4 5 3 2 1 
d. 4 1 3 5 2 
e. Answer not known 
nghUj;Jf.  
gl;bay; I     gl;bay; II 
A. n[aNjth;     1. gtdj;thu;  
B. Njha;      2. gpUj;tpuh[; uhNrh  
C. fk;gd;      3. ,uhkehlfk; 
D. Nrf;fpohu;     4. fPjh Nfhtpe;jk; 
E. re;j; gu;jha;     5. ngupaGuhzk; 
 A B C D E 
a. 1 4 3 2 5 
b. 2 3 5 1 4 
c. 4 5 3 2 1 
d. 4 1 3 5 2 
e. tpil njupatpy;iy  

 
82. Match List I with List II and select the answer using the codes given below the lists: 

List I   List II 
A. Ur   1. General assembly of an urban centre 
B. Sabha   2. Tank land 
C. Nagaram  3. General assembly of an ordinary village 
D. Eripatti  4. General assembly of Brahmins  
    5. Pasture land 
 A B C D 
a. 4 3 1 5 
b. 5 4 2 1 
c. 3 4 1 2 
d. 1 2 3 4 
e. Answer not known 
nghUj;Jf.  
gl;bay; I   gl;bay; II 
A. Cu;    1. xU efu;g;Gw ikaj;jpd; nghJr;rig 
B. rgh    2. Vhp epyk;  
C. efuk;    3. xU rhjhuz fpuhkj;jpd; nghJr;rig 
D. Vhpg;gl;b  4. gpuhkzu;fspd; nghJr;rig 

5. Nka;r;ry; epyk; 
A B C D 

a. 4 3 1 5 
b. 5 4 2 1 
c. 3 4 1 2 
d. 1 2 3 4 
e. tpil njupatpy;iy  
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83. Arrange the following Delhi Sultans of the Mamluk dynasty in chronological order 
i. Nasir-ud-din Mahmud ii. Kaiqubad    iii. Iltutmish 
iv. Raziya    v. Qutub-ud-din Aibak  vi. Balban 
Select the answer from the codes given below: 
a. v, i, iii, vi, iv and ii  b. v, iii, iv, i, vi and ii c. iii, iv, i, ii, v and vi  
d. iv, ii, i, vi, v and iii  e. Answer not known 
khk;Yf; tk;rj;jpd; gpd;tUk; nly;yp Ry;jhd;fis fhytupirg;gb tupirg;gLj;jTk;  
i. erPu;-cj;-jpd; k ;̀%j;  ii. ifFghj;    iii. ,y;Jkp~; 
iv. urpah     v. FJg;-cj;-jpd; Igf;   vi. ghy;gd; 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. v, i, iii, vi, iv kw;Wk; ii  b. v, iii, iv, i, vi kw;Wk; ii c. iii, iv, i, ii, v kw;Wk; vi  
d. iv, ii, i, vi, v kw;Wk; iii  e. tpil njupatpy;iy 

 
84. Arrange the following Tughlugs in the chronological sequence. 

i. Firoz Tughluq   ii. Ghiyas-ud-din Tughluq  iii. Abu Bakr 
iv. Nasir-ud-din Mahmud v. Muhammad Tughluq 
Select the answer from the codes given below: 
a. ii, v, i, iii and iv  b. i, ii, v, iv and iii  c. ii, v, i, iv and iii 
d. iv, iii, i, v and ii  e. Answer not known 
gpd;tUk; Jf;sf;Ffis fhytupirg;gLj;jTk;. 
i. /gpNuh]; Jf;sf;    ii. fpah];-cj;-jpd; Jf;sf;   iii. mG gf;fu;  
iv. erPu;-cj;-jpd; k`;%j;  v. KfkJ Jf;sf; 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. ii, v, i, iii kw;Wk;  iv  b. i, ii, v, iv kw;Wk;  iii c. ii, v, i, iv kw;Wk;  iii 
d. iv, iii, i, v kw;Wk;  ii  e. tpil njupatpy;iy 

 
85. What is the correct sequence of the following experiments of Muhammad Tughluq? 

i. Enhancement of land revenue to 50 percent in the Doab area. 
ii. Establishment of a separate department of agriculture. 
iii. Introduction of token currency 
iv. Transfer of capital from Delhi to Daulatabad. 
v. Appointment of a new set of revenue officers. 
Select the answer from the codes given below: 
a. v, ii, i, iv and iii  b. iii, ii, v, iv and i   c. iv, iii, i, ii and v 
d. iv, i, v, ii and iii  e. Answer not known 
gpd;tUtdtw;wpy; Kfk;kJ Jf;sf;; jpl;lq;fspd; rupahd tupir vd;d?  
i. Mw;wpilg; gFjpapy; epy tUthia 50 rjtPjkhf mjpfupj;jy;.  
ii. Ntshz;ikf;nfd jdpj; Jiwia epWTjy;.  
iii. milahs ehzaj;ij mwpKfk; nra;jy;.  
iv. jiyefiu nly;ypapy; ,Ue;J njsyjhghj;Jf;F khw;Wjy;. 
v. Gjpa tUtha; mYtyu;fs; epakdk;. 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. v, ii, i, iv kw;Wk; iii  b. iii, ii, v, iv kw;Wk; i   c. iv, iii, i, ii kw;Wk; v 
d. iv, i, v, ii kw;Wk; iii  e. tpil njupatpy;iy 

 
86. What is the descending order of the following ranks of the nobility under the Delhi 

Sultans? 
i. Amir  ii. Khan  iii. Sar-i-Khail  iv. Malik 
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Select the answer from the codes given below: 
a. iii, i, ii and iv   b. i, ii, iii and iv   c. iv, iii, i and ii 
d. ii, iv, i and iii   e. Answer not known 
jutupirfspd; mbg;gilapy; nly;yp Ry;jhd;fspd; gpuGf;fspd; fPo;Nehf;fpa tupir vd;d?  
i. mkPu;   ii. fhd;   iii. rhu;-,-nfapy;   iv.  khypf; 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. iii, i, ii kw;Wk; iv  b. i, ii, iii kw;Wk; iv   c. iv, iii, i kw;Wk; ii 
d. ii, iv, i kw;Wk; iii  e. tpil njupatpy;iy 

 

87. Which of the following statements about Mahmud  Ghazni are true? 
i. He is said to have invaded India nineteen times in all. 
ii. His last raid in India was aimed at plundering the wealth of the Somanatha 

temple in Gujarat. 
iii. He never met any reverses in his invasions of India. 
iv. He defeated Prithviraja Chauhan in the battle of Waihind. 
v. Al- Beruni who visited India in the wake of Mahmud’s invasions made no critical 

comments about the raids. 
Choose the answer from the codes given below: 
a. i, ii and iii   b. ii and iii   c. ii, iii, iv, and v 
d. All of them    e. Answer not known 
k ;̀%j; f[pdp gw;wp gpd;tUk; $w;Wfspy; vJ cz;ik?.  
i. ,tu; ,e;jpah kPJ vLj;j 19 Kiw gilnaLj;jjhff; $wg;gLfpwJ.  
ii. F[uhj;jpy; cs;s Nrhkehju; Nfhapypd; nry;tj;ij nfhs;isabg;gNj mtuJ filrp 
,e;jpag; gilnaLg;ghFk;.  
iii. ,e;jpah kPJ gilnaLg;Gfspy; mtu; xUNghJk; gpd;dilit re;jpf;ftpy;iy.  
iv. ,tu; gpUj;tpuh[; rTfhid it`pe;j; Nghupy; Njhw;fbj;jhu;.  
v. k ;̀%j;jPd; gilnaLg;GfSf;F gpd;du; ,e;jpahTf;F tp[ak; nra;j my;-ngUdp> ,e;jj; 
jhf;Fjy;fs; Fwpj;J ve;j tpku;rdKk; njuptpf;ftpy;iy. 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. i, ii kw;Wk; iii   b. ii kw;Wk; iii   c. ii, iii, iv kw;Wk; v 
d. Nkw;$wpa midj;Jk;  e. tpil njupatpy;iy 

 

88. In order to improve the armed forces, Alauddin Khalji introduced. 
1. Branding of horses 
2  Descriptive roll of soldiers. 
3. Regular muster of the army 
4. Organisation of the army on the decimal system. 
5. Abolition of the iqtas of royal troopers. 
Choose the answer from the codes given below: 
a. All of them   b. 1, 3 and 4    c. 1, 2, 3 and 4 
d. 2, 3, 4 and 5.   e. Answer not known 
MAjg;gilfis Nkk;gLj;Jk; tifapy;> myhTjPd; fpy;[p mwpKfg;gLj;jpait 
1. FjpiufSf;F milahskply; 
2. tPuu;fspd; jdpg;gl;l Fwpg;Gfs; 
3. ,uhZtj;ij rPuhf jpul;ly; 
4. jrk mikg;gpy; ,uhZtj;jpd; mikg;G.  
5. mur gil tPuu;fspd; ,f;jhf;fis xopj;jy;. 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. Nkw;$wpa midj;Jk;  b. 1, 3 kw;Wk; 4   c. 1, 2, 3 kw;Wk; 4 
d. 2, 3, 4 kw;Wk; 5   e. tpil njupatpy;iy 
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89. Which of the following is correctly paired? 
a. Diwan-i-Mustakhraj-Balban   b. Diwan-i-Ala-ud-din Khalji 
c. Diwan-i-Arz-Muhammad Tughluq  d. Diwan-i-Bandagani-Firoz Tughluq 
e. Answer not known 
gpd;tUtdtw;wpy; vJ rupahf ,izf;fg;gl;Ls;sJ?  
a. jpthd;-,-K];jf;uh[;-ghy;gd;   b. jpthd;-,-myh-cj;-jpd; fy;[p  
c. jpthd;-,-mu;];-KfkJ Jf;sf;   d. jpthd;-,-ge;jfdp-/gpNuh]; Jf;sf; 
e. tpil njupatpy;iy 
  

90. Match the following: 
List I    List II 
i. Ibn Battutah   A. Futuh-us-Saladin 
ii. Al-Beruni   B. Kitab-i-Hind 
iii. Isami    C. Tughlug Namah 
iv. Amir Khusrau  D. Tabaqat-i-Nasiri 
v. Mihhaj Siraj   E. Kitab-ul-Rahla 
a. i-B, ii-C, iii-A, iv-D, v-E   b. i-A, ii-D, iii-E, iv-C, v-B 
c. i-E, ii-B, iii-A, iv-C, v-D   d. i-E, ii-B, iii-D, iv-A, v-C 
e. Answer not known 

   gpd;tUtdtw;iw nghUj;Jf:  
gl;bay; I    gl;bay; II 
i. ,gpd; gJjh    A. /GJ-c];-ryhjPd; 
ii. my;-ngUdp    B. fpjhg;-,-`pe;j; 
iii. ,rhkp     C. Jf;sf; ekh 
iv. mkPu; F];uht;   D. jghfj;-,-ehrpup 
v. kp ;̀`h[; rpuh[;   E. fpjhg;-cy;-u`;yh 
a. i-B, ii-C, iii-A, iv-D, V-E   b. i-A, ii-D, iii-E, iv-C, v-B 
c. i-E, ii-B, iii-A, iv-C, v-D   d. i-E, ii-B, iii-D, iv-A, v-C 
e. tpil njupatpy;iy 

 

91. Assertion (A): With the introduction of sericulture in India by the Turks, the Indian 
    silk industry received a boost. 
Reason (R): The Indians started exporting raw silk to Persia and Afghanistan from 
    the time of the Delhi Sultans. 
a. if (A) is correct, but (R) is wrong. 
b. if (A) is wrong, but (R) is correct. 
c. if both (A) and (R) are correct and (R) is the correct explanation for (A). 
d. if both (A) and (R) are correct and (R) is not correct explanation for (A). 
e. Answer not known 
$w;W (A):  JUf;fpau;fshy; ,e;jpahtpy; gl;Lg;GO tsu;g;G mwpKfg;gLj;jg;gl;ljd; 

%yk;> ,e;jpa gl;Lj; njhopYf;F Cf;fk; fpilj;jJ.  
fhuzk; (R): ,e;jpau;fs; nly;yp Ry;jhd;fspd; fhyj;jpypUe;Nj ghurPfk; kw;Wk; 
    Mg;fhdp];jhd; ehLfSf;F gjdplhj gl;il Vw;Wkjp nra;aj; 
    njhlq;fpdu;. 
a. A kl;LNk rupahf ,Ue;jhy;; R jtwhdJ 
b. A kl;LNk jtwhf ,Ue;jhy;; R rupahdJ  
c. A kw;Wk; R ,uz;Lk; rupahf ,Ue;jhy; R vd;gJ A ,d; rupahd tpsf;fk;.  
d. A kw;Wk; R ,uz;Lk; rupahf ,Ue;jhy; Mdhy R vd;gJ A ,d; rupahd tpsf;fk; 
my;y. 
e. tpil njupatpy;iy  
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92. ‘She was endowed with all the qualities befitting a king, but she was not born of the 
right sex, and so, in the estimation of men, all these virtues were worthless.’ Who wrote 
these words about Raziya? 
a. Isami   b. Amir Khusrau  c. Minhaj Siraj 
d. Shiraj Afif  e. Answer not known 
‘murDf;Fj; jFe;jhw;Nghy; vy;yhg; gz;GfisAk; cilatsha; ,Ue;jhs;> Mdhy; 
mts; rupahd ghypdj;jpy; gpwf;ftpy;iy> vdNt> Mz;fspd; kjpg;gPl;by;> ,e;j 
ew;gz;Gfs; midj;Jk; kjpg;gw;wit.’ u]pah gw;wp ,e;j thu;j;ijfis vOjpatu; ahu;? 
a. ,rhkp      b. mkPu; F];U       c. kpd;̀ h[; rpuh[;      
d. rpuh[; m/gp/g;  e. tpil njupatpy;iy  

 
93. What is the correct chronology of the following events of Akbar’s reign? 

i. Introduction of Dagh and Chehra 
ii. Introduction of the dual rank of zat and sawar. 
iii. Issue of mahjar 
iv. Abolition of jizya 
v. Abolition of pilgrim tax. 
vi. Proclamation of Tauhit-i-Ilahi. 
Choose the answer from the codes below: 
a. ii, iii, i, v, iv, vi  b. v, iv, i, iii, vi, ii  c. iii, iv, i, ii, vi, v 
d. v, iv, vi, i, ii, iii  e. Answer not known 
mf;gupd; Ml;rpapd; gpd;tUk; epfo;Tfspd; rupahd fhytupir vd;d? 
i. jhf; kw;Wk; Nr`;uh Kiwfspd; mwpKfk;. 
ii. [hl; kw;Wk; rthu; vd;w ,ul;il jutupir mwpKfk;. 
iii. kf[u; ntspaPL  
iv. [p];ah xopg;G  
v. ahj;jpiu tup xopg;G 
vi. njs`pj;-,-,yh`papd; gpufldk; 
fPNo cs;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. ii, iii, i, v, iv, vi  b. v, iv, i, iii, vi, ii  c. iii, iv, i, ii, vi, v 
d. v, iv, vi, i, ii, iii  e. tpil njupatpy;iy 
 

94. Arrange the following events of Jahangir’s reign in chronological order. 
i. Captain Hawkin’s visit to Jahangir’s court. 
ii. Sir Thomas Roe’s arrival at Jahangir’s court. 
iii. Mahabat Khan’s revolt and capture of Jahangir 
iv. Prince Khurram’s revolt against his father. 
v. Jahangir’s marriage with Nur Jahan 
vi. Issue of the famous 12 ordinances. 
Choose the answer from the codes below: 
a. i, ii, v, vi, iii, iv  b. vi, v, i, ii, iv, iii  c. ii, iv, iii, v, vi, i 
d. vi, i, v, ii, iv, iii  e. Answer not known 
[`hq;fPupd; Ml;rpapd; gpd;tUk; epfo;Tfis fhytupirg;gb tupirg;gLj;jTk;.  
i. [`hq;fPu; mitf;F Nfg;ld; `hf;fpd; tUif. 
ii. [`hq;fPu; mitf;F ru; jhk]; Nuh tUif. 
iii. kfhgj; fhdpd; fpsu;r;rp kw;Wk; [`hq;fPh; ifg;gw;wg;gly; 
iv. ,sturu; Fu;uhkpd; je;ijf;F vjpuhd fpsu;r;rp. 
v. E}u; [`hDld; [`hq;fPu; jpUkzk;. 
vi. Gfo;ngw;w 12 fl;lisfspd; ntspaPL. 
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fPNo cs;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. i, ii, v, vi, iii, iv  b. vi, v, i, ii, iv, iii  c. ii, iv, iii, v, vi, i 
d. vi, i, v, ii, iv, iii  e. tpil njupatpy;iy 

 
95. During Akbar’s reign, a group of scholars translated Mahabharata into Persian from 

Sanskrit. What is this Persian version called? 
a. Sakinat-ul-Auliya  b. Razm Namah  c. Iqbal Namah 
d. Akbar Namah   e. Answer not known 
mf;gupd; Ml;rpapd; NghJ> mwpQu;fs; FO kfhghujj;ij rk];fpUjj;jpypUe;J ghurPf 
nkhopapy; nkhopngau;j;jJ. ,e;j ghurPf gjpg;gpd; ngau; vd;d? 
a. rfpdhj;-cy;-Mypah   b. u]k; ek      c.,f;ghy; ek  
d. mf;gu; ek   e. tpil njupatpy;iy 
  

96. Who wrote the history of Aurangzeb’s reign in total secrecy because of the emperor’s 
opposition to it and what was the name of that historical work? 
a. Khafi Khan’s Mutakhab-ul-Lubab 
b. Mirza Muhammad Kazim’s Alamgir 
c. Muhammad Saqi’s Masir-i-Alamgiri 
d. Aquil Khan Razi’s zafar Namah-i-Alamgir. 
e. Answer not known 
Nguurupd; vjpu;g;G fhuzkhf mTuq;frPg;gpd; Ml;rpapd; tuyhw;iw Kw;wpYk; ufrpakhf 
vOjpatu; ahu;> me;j tuyhw;Wg; gilg;gpd; ngau; vd;d? 
a. fh/gp fhdpd; Kjhfg;-cy;-Yghg;   
b. kpu;rh K`k;kJ fhrpk; Myk;fpup 
c. KfkJ rhfpapd; krPu;-,-Myk;fpup 
d. mfpy; fhd; urPapd; [h/gu; ekh`p-Myk;fpup 
e. tpil njupatpy;iy 
 

97. The world famous ‘peacock Throne’ was kept in which of the following Mughal 
buildings? 
a. Diwan-i-Khas at Fatehpur Sikri   
b. New Agra Fort 
c. The rang Mahal of the red fort at Delhi 
d. The Diwan-i-Am of the red fort at Delhi 
e. Answer not known 
cyfg; Gfo;ngw;w 'kapy; rpk;khrdk;' gpd;tUk; ve;j Kfyha fl;blj;jpy; 
itf;fg;gl;bUe;jJ? 
a. /gNjG+u; rpf;fpupapy; cs;s jpthd;-,-fh];  
b. Gjpa Mf;uh Nfhl;il   
c. nly;ypapy; cs;s nrq;Nfhl;ilapd; uq; k`hy;  
d. nly;ypapy; cs;s nrq;Nfhl;ilapd; jpthd;-I-mk; 

e. tpil njupatpy;iy 
 

98. The Jesuit missionary who had discussions with Akbar was 
a. Rudolf Aquaviva  b. Antony Monserrate  c. Sir Thomas Roe 
d. Francis Henrequez  e. Answer not known 
mf;gUld; fye;Jiuahba ,NaR rig rkag;gug;ghsh; __________ 
a. Ulhy;/g; mf;thtpth  b. Mz;ldp khd;nrNul;   c. ru; jhk]; Nuh  
d. gpuhd;rp]; n`d;nuf;]; e. tpil njupatpy;iy 
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99. Akbar laid the foundation of the new city at Fatehpur Sikri in honour of 
a. Babur    b. Moin-ud-in Chisti  c. Salim Chisti 
d. Nizam-ud-din Auliya e. Answer not known 
mf;gu; /gNjG+u; rpfpupapy; Gjpa efuj;jpd; mbj;jsj;ij ahiu fTutpf;Fk; tifapy; 
mikj;jhu;. 
a.  ghgu;     b. nkhapd;-cj;-,d; rp];b   c. ryPk; rp];b  
d. ep[hk;-cj;-jpd; mTypah e. tpil njupatpy;iy 

 
100. Aurangzeb discontinued the practice of inscribing kalim on the coins because 

a. it was a practice borrowed from the Turks 
b. it would have been dishonoured from the Turks 
c. it hampered the smooth functioning of the escheat system. 
d. it was an irreligious practice. 
e. Answer not known 
mTuq;frPg; ehzaq;fspy; fypkhit vOJk; eilKiwia epWj;jpdhu;> Vnddpy; 
a. mJ JUf;fpau;fsplkpUe;J ngwg;gl;l xU eilKiw  
b. mJ JUf;fpau;fshy; kjpg;gpof;fg;glyhk; 
c. mJ muR cWg;nghUs; mikg;gpd; R%fkhd nray;ghl;ilj; jLj;jJ  
d. mJ xU kjr;rhu;gw;w eilKiw. 
e. tpil njupatpy;iy 
 

101. What was the only settlement of the Portuguese on the south-east coast? 
a. San Thome   b. Armagaon   c. Karaikal 
d. Pulicat    e. Answer not known 
njd;fpof;F flw;fiuapy; Nghu;j;JfPrpau;fspd; xNu FbNaw;wk; vJ?  
a. rhe;Njhk;      b. mu;kfhd;     c. fhiuf;fhy;  
d. Gypfhl;    e. tpil njupatpy;iy 

 
102. When and by whom were the Portuguese driven out of Hugli in Bengal? 

a. 1625- Shaista Khan  b. 1631-Qasim Khan c. 1650-Prince Murad 
d. 1666-Prince Shuja  e. Answer not known 
tq;fhsj;jpy; cs;s `_f;ypapy; ,Ue;J Nghu;j;JfPrpau;fs; vg;NghJ> ahuhy; 
ntspNaw;wg;gl;ldu;?  
a. 1625- ~hap];jh fhd;    b. 1631-fhrpk; fhd;   c. 1650- ,sturu; Kuhj;  
d. 1666- ,sturu; ~{[h  e. tpil njupatpy;iy 
 

103. Which of the following statements about Alfonso de Albuqerque are incorrect? 
i. He became the Portuguese governor in India in 1509 
ii. He Captured Goa from the ruler of Ahmednagar in 1511. 
iii. He persecuted Muslims and prohibited his countrymen from taking Indian women 
as wives. 
iv. He conquered the island of Ormuz in the Persian Gulf in 1515. 
v. He died in 1520 leaving the Portuguese as the strongest naval power in the Indian 
Ocean. 
Choose the answer from the codes below: 
a. i, ii and iv   b. ii and iii only  c. iii and iv only 
d. ii, iii and v   e. Answer not known 
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my;Nghd;N]h b my;Gnfu;f; gw;wp gpd;tUk; $w;Wfspy; vJ jtwhdJ?   
i. ,tu; 1509 Mk; Mz;by; ,e;jpahtpy; Nghu;j;JfPrpa MSeuhf Mdhu;.  
ii. 1511 Mk; Mz;by; mfkj;efupd; Ml;rpahsuplkpUe;J Nfhthit ifg;gw;wpdhu;.  
iii. K];ypk;fis Jd;GWj;jpa mtu;> ,e;jpag; ngz;fisj; jpUkzk; 

nra;Jnfhs;tijj; jil nra;jhu;.  
iv. 1515y; ghurPf tisFlhtpy; cs;s Xu;K]; jPit mtu; ifg;gw;wpdhu;.  
v. 1520 Mk; Mz;by; mtu; ,we;jNghJ> ,e;jpag; ngUq;flypy; Nghu;j;JfPrpau;fs; 

tYthd flw;gil rf;jpahf ,Ue;jdu;.  
fPNo cs;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;:  
a. i, ii kw;Wk; iv   b. ii kw;Wk; iii kl;Lk;  c. iii kw;Wk; iv kl;Lk; 
d. ii, iii kw;Wk; v   e. tpil njupatpy;iy 
 

104. What is the historical sequence of the following Peshwas? 
Baji Rao   Balaji Baji Rao  Madhav Rao  
Sawai Madhav Rao  Balaji Viswanath   Narayan Rao 
Choose the answer from the codes below: 
a. i, v, ii, iv, iii, vi  b. ii, iii, iv, v, vi, i  c. v, i, ii, iii, vi, iv  
d. v, ii, iii, iv, vi, i  e. Answer not known 
gpd;tUk; ng~;thf;fspd; tuyhw;W tupir vd;d?  
i. gh[p uht;   ii. ghyh[p gh[p uht;   iii. khjt; uht;  
iv. rhit khjt; uht;  v. ghyh[p tp];tehjd;   vi. ehuhaz; uht;  
fPNo cs;s FwpaPLfspy; ,Ue;J tpiliaj;; Nju;e;njLf;fTk;: 
a. i, v, ii, iv, iii, vi  b. ii, iii, iv, v, vi, i  c. v, i, ii, iii, vi, iv  
d. v, ii, iii, iv, vi, I  e. tpil njupatpy;iy 
 

105. Which of the following statements about the treaty of Purandhar are true? 
(i) Sivaji surrendered 23 of his 35 forts to the Mughals. 
(ii) The Mughals in return ceded the two districts of Surat and Ahmadnagar to 

Sivaji. 
(iii) Sivaji's son, Sambhaji, was granted a mansab of 5000 by the Mughals. 
(iv) Sivaji was recognised as the independent ruler of swarajya by Mughals. 
(v) The Mughals recognised Sivaji’s right to certain parts of the Bijapur kingdom. 
Select the answer from the codes below: 
a. All of them   b. i, ii, iii and iv   c. i, iii and v  
d. i, ii and iv   e. Answer not known 
Gue;ju; cld;gbf;if gw;wpa gpd;tUk; $w;Wfspy; vJ cz;ik?  
i. rpth[p jdJ 35 Nfhl;ilfspy; 23 Nfhl;ilfis Kfyhau;fsplk; xg;gilj;jhu;.  

ii. Kfyhau;fs; R+uj; kw;Wk; m ;̀kj;efu; Mfpa ,uz;L khtl;lq;fisAk; rpth[pf;F 
xg;gilj;jdu;.  

iii. rpth[papd; kfd; rk;gh[pf;F Kfyhau;fshy; 5000 gjtp toq;fg;gl;lJ. 
iv. rpth[p Kfyhau;fshy;  Rauh[;aj;jpd; Rje;jpu Ml;rpahsuhf mq;fPfupf;fg;gl;lhu;.  
v. gp[g;G+u; ,uhr;rpaj;jpd; rpy gFjpfSf;F rpth[papd; cupikia Kfyhau;fs; 

mq;fPfupj;jdu;.  
fPNo cs;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. Nkw;$wpa midj;Jk;  b. i, ii, iii kw;Wk; iv   c. i, iii kw;Wk; v  
d. i, ii kw;Wk; iv   e. tpil njupatpy;iy 
 

106. Almost all the ministers of Sivaji’s ashtapradhan, except two. participated in war. Pick 
out the exceptions from among the following: 
(i) Peshwa (ii) Amatya (iii) Pandit Rao  (iv) Nyayadhish (v) Sachiv 
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Choose the answer from the codes below: 
a. i and v   b. ii and iii    c. i and iii  
d. iii and iv  e. Answer not known 
rpth[papd; m~;lgpujhd; mikr;ru;fs; ,Utiuj; jtpu kw;w midtUk; Nghupy; 
gq;Nfw;wdu;. gpd;tUtdtw;wpy; ,Ue;J tpjptpyf;Ffisj; Nju;e;njLf;fTk;: 
(i) ng~;th (ii) mkj;ah  (iii) gz;bl; uht;  (iv) eahajP~;  (v) rr;rPt;  
fPNo cs;s FwpaPLfspypUe;J tpiliaj;; Nju;e;njLf;fTk;: 
a. i kw;Wk; v  b. ii kw;Wk; iii    c. i kw;Wk; iii  
d. iii kw;Wk; iv  e. tpil njupatpy;iy 
 

107. Match the following 
List I   List II 
A. Majumdar  1. In-charge of royal correspondence 
B. Waqenavis  2. ln-charge of intelligence, posts and household affairs 
C. Chitnis   3. In-charge of ceremonies 
D. Dabir   4. Initially accountant general, later finance minister 
E. Pandit Rao  5. In-charge of ecclesiastical affairs and charities 
 A B C D E 
a. 4 2 1 3 5 
b. 2 1 3 5 4 
c. 3 5 4 1 2 
d. 1 3 5 4 2  e. Answer not known 
gpd;tUtdtw;iw nghUj;Jf:  
gl;bay; I   gl;bay; II.  
A. k[{k;jhu;   1. mur fbjg; nghWg;ghsu;  
B. thf;fpa ehtp];  2. Gydha;T> jghy; kw;Wk; tPl;L tptfhuq;fSf;F nghWg;ghdtu; 
C. rpl;dp];   3. tpohf;fSf;F nghWg;ghdtu;  
D. jhgpu;    4. Muk;gj;jpy; nghJ fzf;fhsu;> gpd;du; epjp mikr;ru; 
E. gz;bl; uht;   5. kjk; njhlh;ghd tptfhuq;fs; kw;Wk; njhz;L epWtdq;fSf;F 
     nghWg;ghdtu; 
 A B C D E 
a. 4 2 1 3 5 
b. 2 1 3 5 4 
c. 3 5 4 1 2 
d. 1 3 5 4 2  e. tpil njupatpy;iy 
 

108. Match the following 
List I   List II 
A. Chauth  1. A levy equal to one year’s income of the taxpayer realised in 
     times of financial difficulties 
B.  Sardeshmukhi 2. one-fourth of the land revenue of an undefined belt of land 
     paid to the Marathas by the others so that their areas would not 
     be subjected to Maratha raids 
C. Mokasa  3. An additional levy of 10 per cent on those lands over which 
     the Marathas claimed hereditary rights  
D. Kurja-Patti 4. Lands whose revenues assigned to military officers in lieu of 

their salaries 
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 A B C D 
a. 2 3 4 1 
b. 3 2 1 4 
c. 2 3 1 4 
d. 3 2 4 1 
e. Answer not known 
gpd;tUtdtw;iw nghUj;Jf:    
gl;bay; I   gl;bay; II 
A.  nrsj;   1. tup nrYj;Jgtupd; Xuhz;L tUkhdj;jpw;F rkkhd tup> epjp 
     rpf;fy;fspd; NghJ czug;gl;lJ 
B. ru;Nj~;Kfp   2. tiuaWf;fg;glhj epyq;fspd; tUthapy; ehd;fpy; xU 
     gq;F kuhj;jhf;fSf;F kw;wtu;fshy; nrYj;jg;gLfpwJ> ,jdhy; 
     mtu;fspd; gFjpfs; kuhj;jh gilnaLg;GfSf;F 
cl;gLj;jg;glhJ 
C. nkhfhrh   3. guk;giu cupik Nfhupa kuhj;jpau;fspd; epyq;fSf;F 10% 
     $Ljy; tup 
D. Fu;[h-ghl;b   4. ,uhZt mjpfhupfspd; rk;gsj;jpw;Fg; gjpyhf mtu;fsJ 
     tUkhdk; epyq;fshf xJf;fg;gLk;;  

A B C D 
a. 2 3 4 1 
b. 3 2 1 4 
c. 2 3 1 4 
d. 3 2 4 1  e. tpil njupatpy;iy 

 

109. Assertion (A): Shaista Khan was unceremoniously transferred from the Deccan to 
    Bengal by Aurangzeb. 
Reason (R): Shaista Khan was the maternal uncle of Aurangzeb. 
a. if both (A) and (R) are correct, and (R) is the correct explanation of (A) 
b. if both (A) and (R) are correct, but (R) is not the correct explanation of (A) 
c. if only (A) is correct. 
d. if only (R) is correct  
e. Answer not known 
$w;W (A):  i~];jh fhd; jf;fhzj;ypUe;J tq;fhsj;jpw;F mTuq;frPg; %yk; 
    xOq;fw;w Kiwapy; khw;wg;gl;lhu;.  
fhuzk; (R):  i~];jh fhd; mTuq;frPg;gpd; jha;top khkh Mthu; 

a. (A) kw;Wk; (R) ,uz;Lk; rup> kw;Wk; (R) vd;gJ (A) ,d; rupahd tpsf;fk; 
b. A kw;Wk; R ,uz;Lk; rup> Mdhy; R vd;gJ A ,d; rupahd tpsf;fk; my;y. 
c. (A) kl;LNk rup 
d. (R) kl;LNk rup 
e. tpil njupatpy;iy  
 

110. Assertion (A): Sivaji refused to share the newly conquered territories of Bijapur 
(1676-79) with the Qutub Shahis of Golconda. 
Reason (R): Madanna Pandit, the wazir of Qutub Shah, gave protection to Sivaji’s 
rebellious son, Sambhaji. 
a. if both (A) and (R) are correct, and (R) is the correct explanation of (A) 
b. if both (A) and (R) are correct, but (R) is not the correct explanation of (A) 
c. if only (A) is correct. 
d. if only (R) is correct  
e. Answer not known 
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$w;W (A): Gjpjhf ifg;gw;wg;gl;l gp[g;G+u; gpuNjrq;fis (1676-79) Nfhy;nfhz;lhtpd; 
FJg; ~h`pfSld; gfpu;e;J nfhs;s rpth[p kWj;Jtpl;lhu;. 
fhuzk; (R): FJg; ~htpd; thrpuhd kjd;dh gz;bl; rpth[papd; fyff;fhu kfdhd 
rk;gh[pia ghJfhj;jhu;. 
a. A kw;Wk; R ,uz;Lk; rup> R vd;gJ A ,d; rupahd tpsf;fk;.  
b. A kw;Wk; R ,uz;Lk; rup> R vd;gJ A ,d; rupahd tpsf;fk; my;y. 
c. A kl;LNk rup 
d. R  kl;LNk rup 
e. tpil njupatpy;iy  

 

111. Tipu Sultan 
(i) Attempted modern industries in Mysore by inviting foreign experts. 
(ii) Sent embassies to France, Turkey, Iran and Pegu to develop foreign trade. 
(iii) Attempted to set up a state trading company on the European lines. 
(iv) Introduced a new system of coinage, new scales of weights and measures, and a 

new calendar. 
(v) Established a modem arsenal at Dindigul with French help. 
Choose the answer from the codes given below: 
a. i, iii, iv and v   b. i, ii, iii and iv  c. ii, iii, iv and v  
d. i, ii, iv and v   e. Answer not known 
jpg;G Ry;jhd;  
(i) ntspehl;L epGzu;fis miog;gjd; %yk; ikR+upy; etPd njhopy;fis Kaw;rpj;jhu;.  
(ii) ntspehl;L tu;j;jfj;ij tsu;g;gjw;fhf gpuhd;];> JUf;fp> <uhd; kw;Wk; ngFTf;F 
J}ju;fis mDg;gpdhu;.  
(iii) INuhg;gpa topfspy; xU murpd; tu;j;jf epWtdj;ij mikf;f Kaw;rpj;jhu;.  
(iv) ehzaj;jpd; Gjpa mikg;G> Gjpa vilfs; kw;Wk; msTfs; kw;Wk; Gjpa ehl;fhl;b 
Mfpatw;iw mwpKfg;gLj;jpdhu;.  
(v) jpz;Lf;fy;ypy; xU etPd MAjf; fsQ;rpaj;ij gpnuQ;R cjtpAld; epWtpdhu;.  
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk;: 
a. i, iii, iv kw;Wk; v  b. i, ii, iii kw;Wk; iv  c. ii, iii, iv kw;Wk; v  
d. i, ii, iv kw;Wk; v  e. tpil njupatpy;iy  

 

112. Which of the following statements about the first and the second Angle-Mysore wars 
are incorrect? 
(i) The First Anglo-Mysore War began in 1746 and ended in 1750. 
(ii) The Second Anglo-Mysore War began in 1780 and ended in 1784. 
(iii) The first peace treaty between the British and Mysore was concluded in 1784. 
(iv) One of the causes for the outbreak of the Second War was the British capture of 

Mahe, a French settlement within Haider’s jurisdiction. 
Select the answer from the codes given below: 
a. i and ii    b. i and iii    c. ii and iii 
d. iii and iv   e. Answer not known 
Kjy; kw;Wk; ,uz;lhtJ Mq;fpNyh-ikR+u; Nghu;fs; gw;wpa gpd;tUk; $w;Wfspy; vJ 
jtwhdJ?  
(i) Kjy; Mq;fpNyh-ikR+u; Nghu; 1746 ,y; njhlq;fp 1750 ,y; Kbe;jJ.  
(ii) ,uz;lhtJ Mq;fpNyh-ikR+u; Nghu; 1780 ,y; njhlq;fp 1784 ,y; Kbe;jJ.  
(iii) gpupl;b~hUf;Fk; ikR+Uf;Fk; ,ilapyhd Kjy; rkhjhd xg;ge;jk; 1784 ,y; 
Kbtile;jJ.  
(iv) ,uz;lhtJ Nghu; ntbj;jjw;fhd fhuzq;fspy; xd;W> i`jupd; mjpfhu tuk;gpw;Fs; 
,Ue;j gpnuQ;R FbNaw;wkhd khN`it gpupl;b~; ifg;gw;wpaJ. 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspypUe;J tpiliaj; Nju;e;njLf;fTk; 
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a. i kw;Wk; ii   b. i kw;Wk; iii    c. ii kw;Wk; iii 
d. iii kw;Wk; iv   e. tpil njupatpy;iy 
 

113. Match the following: 
List I     List II 
A. Treaty of Amritsar   1. 1809 
B. Death of Ranjit Singh  2. 1823 
C. Tripartite Treaty   3. 1838 
D. Occupation of Peshawar  4. 1839 
 A B C D 
a. 2 3 4 1 
b. 3 4 2 1 
c. 1 4 3 2 
d. 2 4 3 1 
e. Answer not known 
gpd;tUtdtw;iwg; nghUj;Jf:  
gl;bay; I     gl;bay; II  
A. mkpu;jru]; xg;ge;jk;   1. 1809  
B. uQ;rpj; rpq;fpd; kuzk;   2. 1823  
C. Kj;jug;G xg;ge;jk;    3. 1838  
D. ng~htu; Mf;fpukpg;G   4. 1839 

A B C D 
a. 2 3 4 1 
b. 3 4 2 1 
c. 1 4 3 2 
d. 2 4 3 1 
e. tpil njupatpy;iy 
 

114. Which among the following wrote Persian verses under the name ‘Gulrakhi’? 
a. Sikander Lodhi  b. Bahlol Lodhi   d. Ibrahim Lodhi 
d. Daulat Khan Lodhi  e. Answer not known 
gpd;tUgtu;fspy; ‘Fy;uhf;fp’ vd;w ngaupy; ghurPf ghly;fis vOjpatu; ahu;? 
a. rpf;fe;ju; Nyhjp   b. g ;̀Nyhy; Nyhjp  c. ,g;uh`pk; Nyhjp  
d. njsyj; fhd; Nyhjp  e. tpil njupatpy;iy 
 

115. With reference to Delhi sultanate, ‘Zawabit’ refers to which of the following? 
a. Laws of Shariah  b. State laws    c. Laws of marriage 
d. None of the above  e. Answer not known 
nly;yp Ry;jhdfj;ijg; gw;wp  '[thgpj;' vd;gJ gpd;tUtdtw;wpy; vijf; Fwpf;fpwJ? 
a. ~upah rl;lq;fs;   b. mur rl;lq;fs;  c. jpUkzr; rl;lq;fs; 
d. Nkw;fz;l vJTk; ,y;iy e. tpil njupatpy;iy 
 

116. Find the greatest number that will divide 445 and 572 leaving remainders 4 and 5 
respectively. 
a. 72  b. 57  c. 63  d. 36  e. Answer not known 
445 kw;Wk; 572 I xU Fwpg;gpl;l vz;zhy; tFf;Fk; nghOJ KiwNa kPjp 4 kw;Wk; 5 
Ij;juf; $ba kpfg;nghpa vz;izf; fz;lwpf. 
a. 72  b. 57  c. 63  d. 36  e. tpil njhpatpy;iy 
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117. If the HCF of 65 and 117 is expressible in the form of 65 m – 117 then find the value of 
m. 
a. 1  b. 2  c. 3  d. 4  e. Answer not known 
65 kw;Wk; 117-apd; kPg;ngU nghJ tFj;jpia 65 m – 117 vd;w tbtpy; vOjpdhy; m-d; 
kjpg;G fhz;f 
a. 1  b. 2  c. 3  d. 4  e. tpil njhpatpy;iy 

 
118. The product of two numbers is 1320 and their H.C.F. is 6. Then the L.C.M. of the 

numbers 
a. 220  b. 1314 c. 1326  d. 7920 e. Answer not known 
,U vz;fspd; ngUf;fw;gyd; 1320> kP.ngh.t. 6 vdpy; kP.rp.k 
a. 220  b. 1314 c. 1326  d. 7920 e. tpil njhpatpy;iy 

 
119. If the LCM of 3 and 9 is 9 then H.C.F. is  

a. 1  b. 3  c. 9  d. 27  e. Answer not known 
3 kw;Wk; 9 Mfpa vz;fspd; kP.rp.k. 9 vdpy; mtw;wpd; kP.ng.t. 
a. 1  b. 3  c. 9  d. 27  e. tpil njhpatpy;iy 
 

120. Find the L.C.M. : (2x2 – 3xy)2, (4x – 6y)3, 8x3 – 27y3 
a. 23x3 (2x – 3y)2    b. 23x2 (4 x2 + 6 xy + 9y2) 
c. 23x2 (2x – 3y)3 (4 x2 + 6 xy + 9y2) d. 23x3 (2x – 3y)3 (4 x2 + 6xy + 9y2) 
e. Answer not known 
kP.rp.k. fhz;f: (2x2 – 3xy)2, (4x – 6y)3, 8x3 – 27y3 

a. 23x3 (2x – 3y)2    b. 23x2 (4 x2 + 6 xy + 9y2) 
c. 23x2 (2x – 3y)3 (4 x2 + 6 xy + 9y2) d. 23x3 (2x – 3y)3 (4 x2 + 6xy + 9y2) 
e. tpil njhpatpy;iy 
 

121. Which building of the Delhi sultanate period is the first example of true arch? 
a. Alai Minar   b. Tomb of Balban  c. Alai Darwaza 
d. Alauddin Khilji’s tomb e. Answer not known 
nly;yp Ry;jhd;fspd; fhyj;jpy; fl;lg;gl;l ve;j fl;blk; cz;ikahd tistpd; Kjy; 
cjhuzkhFk;?  
a. myha kpdhu;   b. ghy;gdpd; fy;yiw      
c. myha ju;thrh   d. myhTjPd; fpy;[papd; fy;yiw  
e. tpil njupatpy;iy 

 
122. Which of the following visited during the reign of Deva Raya I? 

1. Nicolo Conti   2. Nikitin   3. Domingo Paes 
Select the correct option from the codes given below: 
a. only 1    b. only 1 & 2    c. only 2 & 3   
d. 1, 2 & 3    e. Answer not known 
gpd;tUtdtw;wpy; Kjyhk; Njtuhaupd; Ml;rpapd; NghJ tUifGhpe;jth; ahh;? 
1. epf;NfhNyh fhd;b  2. epfpbd;  3. nlhkpq;Nfh ga]; 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rupahdij  Nju;e;njLf;fTk;: 
a. 1 kl;Lk;   b. 1 & 2 kl;Lk;   c. 2 & 3 kl;Lk;  
d. 1> 2 & 3   e. tpil njupatpy;iy 
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123. Which of the following statements are correct regarding Krishna Deva Raya? 
1. He was a great commander and an efficient administrator. 
2. He decisively defeated the Muslim army in the battle of Diwani. 
Select the correct option from the codes given below: 
a. only 1    b. only 2   c. both 1 & 2   
d. neither 1 & 2   e. Answer not known 
fpU~;z Njtuhaiug; gw;wp gpd;tUk; $w;Wfspy; vJ rupahdJ? 
1. mtu; xU rpwe;j jsgjp kw;Wk; jpwikahd epu;thfp. 
2. jpthdp Nghupy; K];ypk; ,uhZtj;ij mtu; jPu;f;fkhf Njhw;fbj;jhu;. 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rupahdijj;  Nju;e;njLf;fTk;: 
a. 1 kl;Lk;      b. 2 kl;Lk;    c. 1 & 2 kl;Lk; 
d. 1 & 2 ,y;iy  e. tpil njupatpy;iy 

 

124. Which of the following took the title of Yavanarajya sthapanacharya? 
a. Krishna Deva Raya  b. Vira Narasimha Raya  c. Sada Siva Raya  
d. Achyuta Deva Raya  e. Answer not known 
gpd;tUgtu;fspy; atduh[;a ];jhgdhr;rhupahu; vd;w gl;lj;ij ngw;wtu; ahu;? 
a. fpU~;z Njtuhahu;   b. tPu eurpk;kuhau;   c. rjh rptuhau;  
d. mr;Aj Njtuhahu;  e. tpil njupatpy;iy 

 

125. At which of the following places, you can find the specimens of Vijayanagara paintings? 
1. Tirupati 2. Lepakshi  3. Hampi  4. Anegundi 
Select the correct option from the codes given below: 
a. Only 1 & 2   b. only 2 & 3   c. only 2, 3 & 4  
d. 1, 2, 3 & 4   e. Answer not known 
gpd;tUk; ve;j ,lj;jpy;> tp[aefu Xtpaq;fspd; khjpupfis ePq;fs; fhzyhk;? 
1. jpUg;gjp 2. Nyghf;~p   3. `k;gp  4. MNdFe;jp 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rupahdijj; Nju;e;njLf;fTk;: 
a. 1 & 2 kl;Lk;   b. 2 & 3 kl;Lk;   c. 2> 3 & 4 kl;Lk;  
d. 1> 2> 3 & 4   e. tpil njupatpy;iy 

 

126. Which of the following was granted the title of Malik-ul-Tujjar, i.e., Chief of Merchants? 
a. Nizam Shah   b. Hasan Gangu   c. Mahmud Gawan 
d. None of the above  e. Answer not known 
gpd;tUgtu;fspy; ahUf;F khypf;-cy;-J[hu;> mjhtJ tzpfu;fspd; jiytu; vd;w gl;lk; 
toq;fg;gl;lJ? 
a. ep[hk; ~h    b. `rd; fq;F  c. kf%j; fthd;  
d. Nkw;fz;l vtUk; ,y;iy e. tpil njupatpy;iy 

 

127. Althanasius Nikitin, who travelled in the Bahmani kingdom from 1470-74 CE, was from 
which of these modern countries? 
a. Russia    b. Britain    c. Greece  
d. Turkey    e. Answer not known 
fpgp 1470 Kjy; 1474 tiu ghkdp rhk;uh[;aj;jpw;F gazk; nra;j my;jhdhrpa]; epfpbd;> 
,e;j etPd ehLfspy; ve;j ehl;ilr; Nru;e;jtu;? 
a. u~;ah     b. gpupl;ld;     c. fpuP];   
d. JUf;fp    e. tpil njupatpy;iy 

 

128. Which of the following rulers was also called as Jagadguru Badshah? 
a. Burhan Nizam Shah   b. Ali Adil Shah I 
c. Ibrahim Adil Shah II   d. Mailk Hasan Bahri  
e. Answer not known 
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gpd;tUgtu;fspy; ve;j Ml;rpahsu; [fj;FU ghl;~h vd;W miof;fg;gl;lhu;? 
a. Gu;`hd; ep[hk; ~h     b. Kjyhk; myp Mjpy; ~h 
c. ,uz;lhk; ,g;uh`pk; Mjpy; ~h  d. khypf; `rd; g ;̀up 
e. tpil njupatpy;iy 

 
129. Which of the following wrote the book Kitab-e-Navras? 

a. Malik Hasan Bahri   b. Ibrahim Adil Shah II 
c. Ali Adil Shah I   d. Burhan Nizam Shah  
e. Answer not known 
gpd;tUgtu;fspy; fpjhg;-,-et;uh]; vd;w Gj;jfj;ij vOjpatu; ahu;? 
a. khypf; `rd; g ;̀up    b. ,uz;lhk; ,g;uh`pk; Mjpy; ~h 
c. Kjyhk; myp Mjpy; ~h   d. Gu;`hd; ep[hk; ~h 
e. tpil njupatpy;iy 

 

130. Which of the following ruler was buried at Gol Gumbaz? 
a. Ibrahim Adil Shah II   b. Ali Adil Shah I 
c. Muhammad Adil Shah  d. Malik Hasan Bahri  
e. Answer not known 
gpd;tUgtu;fspy; ve;j Ml;rpahsu; Nfhy; Fk;gh]py; mlf;fk; nra;ag;gl;Ls;shu;? 
a. ,uz;lhk; ,g;uh`pk; Mjpy; ~h b. Kjyhk; myp Mjpy; ~h  
c. Kfk;kJ Mjpy; ~h    d. khypf; `rd; g ;̀up 
d. tpil njupatpy;iy 

 
131. Which among the following Sikh Gurus had been given the “Palace of Amritsai “by 

Mughal Emperor Akbar? 
a. Guru Ram Das  b. Guru Arjun Das  c. Guru Angad 
d. Guru Hargovind  e. Answer not known 
Kfyha Nguuru; mf;guhy; "mkpu;jrha; muz;kid" gpd;tUk; rPf;fpa FUf;fspy; ahUf;F 
toq;fg;gl;lJ? 
a. FU uhk; jh];   b. FU mu;[{d; jh];   c. FU mq;fj; 
d. FU `u;Nfhtpe;j;  e. tpil njupatpy;iy 

 
132. Which among the following two cities were joined by “Sadak – I-Azam”  the precursor 

of the Grand Trunk Road built by Shershah Suri? 
a. Agra & Calcutta  b. Delhi & Patna  c. Delhi & Sasaram 
d. Agra & Sasaram  e. Answer not known 
N~u;~h R+upahy; fl;lg;gl;l fpuhz;l; l;uq;f; rhiyapd; Kd;Ndhbahd "rlf;-,-Mrk;" 
gpd;tUk; ,uz;L efuq;fspy; vJ ,ize;jJ? 
a. Mf;uh & fy;fj;jh       b. nly;yp & ghl;dh    c. nly;yp & rrhuhk; 
d. Mf;uh & rrhuhk;   e. tpil njupatpy;iy 

 
133. For which of the following Shershah Suri is not known? 

a. Organisation of the system of Civil Administration 
b. Issuing first Rupiya which was in use till 20th century 
c. Introducing the system of irrigation by canals 
d. All are initiatives of Shershah  Suri 
e. Answer not known 
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gpd;tUtdtw;wpy; vjw;fhf n~u;~h R+up mwpag;gltpy;iy? 
a. rptpy; epu;thf mikg;G 
b. 20Mk; E}w;whz;L tiu gad;ghl;by; ,Ue;j Kjy; &gpahit ntspapl;lJ 
c. fhy;tha;fs; %yk; ePu;g;ghrdk; nra;Ak; Kiwia mwpKfg;gLj;Jjy; 
d. midj;Jk; n~u;~h R+upapd; Kaw;rpfs;  
e. tpil njupatpy;iy 

 
134. Which of the following buildings of Mughal era is mentioned as Rauza -I Munawara in 

contemporary books? 
a. Red Fort, Agra  b. Red Fort, Delhi  c. Taj Mahal 
d. Jama Masjid, Delhi  e. Answer not known 
gpd;tUk; ve;j Kfyha fhy fl;blq;fs; rkfhy Gj;jfq;fspy; nusrh - I Kdhthuh 
vd;W Fwpg;gplg;gl;Ls;sJ? 
a. nrq;Nfhl;il> Mf;uh  b. nrq;Nfhl;il> nly;yp  c. jh[; k`hy; 
d. [kh k];[pj;> nly;yp  e. tpil njupatpy;iy 

 
135. Which among the following terms was used for the Royal Cavalry of the Maratha Army 

System? 
a. The Shiledars   b. The Bargirs   c. The Hazari 
d. The Subedars   e. Answer not known 
kuhj;jpa ,uhZt mikg;gpd; fhyhl;gilf;F gpd;tUk; nrhw;fspy; vJ 
gad;gLj;jg;gl;lJ? 
a. ~pNyhjhu;fs;   b. ghu;fpu;fs;     c. `rhup 
d. RNgju;fs;    e. tpil njupatpy;iy 

 

136. Who among the following is said to be the pioneer of guerilla warfare in the Deccan 
region? 
a. Shivaji    b. Shah ji Bhosle  c. Malik Ambar 
d. Maloji Bhosale  e. Answer not known 
fPo;f;fz;ltu;fspy; ahu; jf;fhzg; gFjpapy; nfhupy;yhg; Nghupd; Kd;Ndhb vd 
$wg;gLfpwJ? 
a. rpth[p    b. ~h [p Ngh];Ny   c. khypf; mk;gu; 
d. khNyh[p NghrNy   e. tpil njupatpy;iy 

 
137. Balaji Vishwanath got which of the following rights from the Mughal Emperor, Farrukh 

Siyar? 
1. Recognition of Shahu as the Maratha king 
2. Permission to collect Chauth from six Mughal provinces 
3. Permission to collect sardesh mukhi from six Mughal provinces 
Select the correct option from the codes given below: 
a. only 2    b. only 1 & 3    c. only 1 & 2 
d. 1, 2 & 3    e. Answer not known 
ghyh[p tp];tehj; Kfyhag; Nguuru; /g&f; rpahuplkpUe;J gpd;tUk; ve;j cupikiag; 
ngw;whu;? 
1. ~h`{it kuhl;ba kd;duhf mq;fPfupj;jy; 
2. MW Kfyha khfhzq;fspy; ,Ue;J nrsj; t#ypf;f mDkjp 
3. MW Kfyha khfhzq;fspy; ,Ue;J ru;Nj~; Kfp t#ypf;f mDkjp 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rupahdijj; Nju;e;njLf;fTk;: 
a. 2 kl;Lk;   b. 1 & 3 kl;Lk;   c. 1 & 2 kl;Lk; 
d. 1> 2 & 3    e. tpil njupatpy;iy 
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138. Which of the following preached and popularized the idea of Hindu – pad-padshahi ( 
Hindu Empire)? 
a. Nana Sahib I   b. Madhav Rao  c. Baji Rao I 
d. Balaji Vishwanath  e. Answer not known 
What were the reasons of the defeat of Maratha power  
gpd;tUtdtw;wpy; vJ ,e;J-gl;-ghl;~h`p (,e;J rhk;uh[;ak;) vd;w fUj;ijg; gpurq;fpj;J 
gpugyg;gLj;jpaJ? 
a. Kjyhk; ehdh rh`pg;  b. khjt; uht;   c. Kjyhk; gh[p uht;  
d. ghyh[p tp];tehj;   e. tpil njupatpy;iy 
 

139. Which among the following was the main occupation of Paleolithic (Old stone) people? 
a. Agriculture   b. Farming    c. Hunting 
d. Fishing    e. Answer not known 
gpd;tUtdtw;wpy; gioa fw;fhy kf;fspd; Kf;fpa njhopy; vJ? 
a. Ntshz;ik   b. tptrhak;             c. Ntl;ilahLjy; 
d. kPd;gpb njhopy;  e. tpil njupatpy;iy 

 
140. In which state of India, the first paleolithic site was discovered? 

a. Jammu & Kashmir  b. Rajasthan     c. Madhya pradesh 
d. Karnataka   e. Answer not known 
,e;jpahtpd; ve;j khepyj;jpy;> Kjy; gioa fw;fhy jsk; fz;Lgpbf;fg;gl;lJ? 
a. [k;K&fh~;kPh;   b. uh[];jhd;        c. kj;jpa gpuNjrk; 
d. fh;ehlfh   e. tpil njupatpy;iy 

 

141. Which among the following can best define the Neolithic Revolution? 
a. Green Revolution  b. Technology Revolution   
c. Milk Revolution  d. Agricultural Revolution  
e. Answer not known 
gpd;tUtdtw;wpy; vJ Gjpa fw;fhyg; Gul;rpia rhpahf tiuaWf;f KbAk;? 
a. gRikg;Gul;rp   b. njhopy;El;g Gul;rp      c. ghy; Gul;rp 
d. Ntshz; Gul;rp  e. tpil njupatpy;iy 

 

142. Which among the following site has yielded the cultural remains from Neolithic to 
Harappan era? 
a. Dholavira   b. Mohenjo-Daro  c. Harappa 
d. Mehrgarh   e. Answer not known 
gpd;tUk; jsq;fspy; vJ Gjpa fw;fhyk; Kjy; `ug;gd; fhyk; tiuapyhd fyhr;rhu 
rhd;Wfisf; nfhz;Ls;sJ? 
a. Njhyhtpuh   b. nkh`Q;rjhNuh        c. `ug;gh 
d. nk`h;fh;   e. tpil njupatpy;iy 

 
143. The first astronomical observatory of Harappan Civilization has been found at which 

among the following ancient Indian sites? 
a. Chanhudaro   b. Ropar   c. Daimabad 
d. Dholavira   e. Answer not known 
`ug;gh ehfhpfj;jpd; Kjy; thdpay; Ma;Tf;$lk; gpd;tUk; goq;fhy ,e;jpaj; jsq;fspy;; 
vq;F fz;Lgpbf;fg;gl;Ls;sJ? 
a. rd;̀ {jhNuh   b. Nuhghh;            c. ijkhghj; 
d. Njhyhtpuh   e. tpil njupatpy;iy 
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144. Which of the following are correctly matched? 
Tripitaka         Subject matter 
1. Sutta Pitaka   Conventional Teaching 
2. Vinaya Pitaka   disciplinary code 
3. Abhidhamma Pitaka  Moral psychology 
Select the correct option from the codes given below: 
a. only 1    b. only 1 & 2    c. only 2 & 3 
d. 1, 2 &3    e. Answer not known 
gpd;tUtdtw;wpy; vJ rupahfg; nghUe;JfpwJ?  
jpupgplfk;     nghUs; 
1. Rj;j gplfk;    tof;fkhd Nghjid 
2. tpda gplfk;    xOf;f rl;lq;fs;  
3. mgpjk;k gplfk;   mwnewp cstpay; 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rupahdijj; Nju;e;njLf;fTk;: 
a. 1 kl;Lk;   b. 1 & 2 kl;Lk;    c. 2 & 3 kl;Lk; 
d 1> 2 & 3    e. tpil njupatpy;iy 

 
145. Which of the following statements are correct with respect to Ajivikas? 

1. Karma is a fallacy. 
2. Nirvana was only reached after living through an immense number of lives. 
3. Ajivikas practiced austerities. 
Select the correct option from the codes given below: 
a. only 1    b. only 2 & 3   c. only 3 
d. 1, 2 & 3    e. Answer not known 
Mrptfu;fs; njhlu;ghf gpd;tUk; $w;Wfspy; vJ rupahdJ? 
1. fu;kh vd;gJ xU fw;gid. 
2. vz;zw;w capu;fis tho;e;j gpd;dNu epu;thzj;ij milaKbAk;. 
3. Mrptfu;fs; Jwtwj;ij filg;gpbj;jdh; 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rupahdijj; Nju;e;njLf;fTk;: 
a. 1 kl;Lk;   b. 2 & 3 kl;Lk;   c. 3 kl;Lk; 
d. 1> 2 & 3    e. tpil njupatpy;iy 

 
146. Who among the following laid down for punishment for a person becoming mendicant 

without making adequate provision for dependent wife and children? 
a. Manu    b. Yajnavalkya   c. Kautilya 
d. Narada    e. Answer not known 
jd;id rhu;e;jpUf;Fk; kidtp kw;Wk; gps;isfSf;Fg; Nghjpa Vw;ghLfs; nra;ahky; xU 
egu; ahrfuhf khwpdhy; jz;lid tpjpf;fg;gl Ntz;Lk; vd;W rl;lk; tFj;jtu; ahu;? 
a. kD     b. ahf;aty;fpau;   c. nfsby;ah 
d. ehujh     e. tpil njupatpy;iy 

 
147. The cotton cloth worn by Indians had a brighter white colour than any cotton found 

elsewhere. This view was recorded by ____ ? 
a. Alexander   b. Megasthenes  c. Nearchus 
d. Pliny    e. Answer not known 
,e;jpau;fs; mzpAk; gUj;jp Jzp kw;w ,lq;fspy; fhzg;gLk; ve;j gUj;jpiaAk; tpl 
gpufhrkhd nts;is epwj;ijf; nfhz;bUe;jJ. ,e;j fUj;J ____ My; gjpT 
nra;ag;gl;lJ? 
a. mnyf;rhz;lu;   b. nkf];jdp];   c. epau;f;f]; 
d. gpspdp    e. tpil njupatpy;iy 
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148. Saptanga Theory which deals with the seven limbs of ancient political structure was 
propounded by ? 
a. Manu    b. Kautilya   c. Panini 
d. Bhaskara   e. Answer not known 
goq;fhy murpay; fl;likg;gpd; VO cWg;Gfisf; ifahSk; rg;jq;f Nfhl;ghL ahuhy; 
Kd;itf;fg;gl;lJ? 
a. kD     b. nfsby;ah;   c. gzpdp 
d. gh];fuu;    e. tpil njupatpy;iy 

 
149. In Which of the following inscriptions Ashoka made his famous declaration,  “ All men 

are my children”? 
a. Minor Rock Edict ( Athraura)  b. Pillar Edict VII 
c. Lumbini Pillar Edict    d. Separate Kalinga Rock Edict I 
e. Answer not known 
gpd;tUk; ve;j fy;ntl;by; mNrhfu; jdJ Gfo;ngw;w “midj;J kf;fSk; vd; gps;isfs;” 
vDk; gpufldj;ij mwptpj;Js;shu;? 
a. rpwpa ghiwf; fy;ntl;L (mj;nusuh)  b. VohtJ J}z; fy;ntl;L   
c. Yk;gpdp J}z; fy;ntl;L   d. Kjyhk; fypq;f ghiw fy;ntl;L  
e. tpil njupatpy;iy 

 
150. Which Ashokan pillar edict provides a list of animals and birds killing of which was 

prohibited? 
a. Pillar edict V    b. Pillar edict VIII c. Pillar edict XII 
d. Pillar edict X    e. Answer not known 
ve;j mNrhf J}z; fy;ntl;L caph;tij nra;a jilnra;ag;gl;l tpyq;Ffs; kw;Wk; 
gwitfspd; gl;baiy toq;FfpwJ? 
a. J}z; fy;ntl;L V    b. J}z; fy;ntl;L VIII   
c. J}z; fy;ntl;L XII   d. J}z; fy;ntl;L X   
e. tpil njupatpy;iy 

 
151. The Ashoka’s Bairut inscription was brought to Allahabad by whom ? 

a. Cunningham   b. James Princep  c. Feroj Shah Tughlaq  
d. Jahangir   e. Answer not known 
mNrhfupd; ig&l; fy;ntl;L ahuhy;; myfhghj;jpw;F nfhz;L tug;gl;lJ? 
a. fd;dpq;fhk;    b. N[k;]; gpupd;];g;    c. ngNuh~; ~h Jf;sf; 
d. [`hq;fPu;    e. tpil njupatpy;iy 

 
152. According to Divyavadana, Bindusara wanted which of the following to succeed him? 

a. Susima     b. Ashoka   c. Tissa 
d. None of the above   e. Answer not known 
jpt;atjdhtpd; $w;Wg;gb> gpd;tUtdtw;wpy; ahiu jdf;Fg; gpd; murhs Ntz;Lk; vd;W 
gpe;Jrhuu; tpUk;gpdhu;? 
a. Rrpkh      b. mNrhfu;    c. jp];]h 
d. Nkw;fz;l vJTk; ,y;iy   e. tpil njupatpy;iy 

 
153. Which of the following language was used in Kanishka’s coins and inscriptions? 

a. Pali    b. Prakrit   c. Bactrian language 
d. Sanskrit   e. Answer not known 
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fdp~;fupd; ehzaq;fs; kw;Wk; fy;ntl;Lfspy; gpd;tUk; ve;j nkhop gad;gLj;jg;gl;lJ? 
a. ghyp     b. gpuhfpUjk;   c. ghf;jpupa nkhop  
d. rk];fpUjk;    e. tpil njupatpy;iy 

       
154. Which of the following Buddhist scholars  is  known as ‘’ Kant of india’’        

a. Vasumitra   b. Dharmakirti  c. Charaka 
d. Nagarjuna   e. Answer not known 
gpd;tUk; Gj;j mwpQu;fspy; “,e;jpahtpd; fhe;J” vd;W miof;fg;gLgth; ahu;? 
a. tRkpj;uh    b. jkh;k fPh;j;jp   c. rhufh 
d. ehfhu;[{dh    e. tpil njupatpy;iy   

 
155. Which of the following are the nine gems of the court of Chandragupta II? 

1. Dhanvantri   2. Kalidasa 
3. Ghatakarpara   4. Varahamihira 
Select the correct option from the codes given below: 
a. only 1 & 2   b. only 2 & 3   c. only 1, 2 & 3 
d. 1, 2, 3 & 4   e. Answer not known 
gpd;tUgtu;fSs; ,uz;lhk; re;jpuFg;jupd; muritapd; xd;gJ uj;jpdq;fs; ahtu;? 
1. jd;te;jpup  2. fhspjhrd; 3. flfu;guu;  4. tuh`kp`puh 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rupahd tpiliaj; Nju;e;njLf;fTk;: 
a. 1 & 2 kl;Lk;   b. 2 & 3 kl;Lk;   c. 1> 2 & 3 kl;Lk; 
d. 1> 2> 3 & 4    e. tpil njupatpy;iy 
 

156. The L.C.M. of two co-prime numbers is 5005. If one of the numbers is 65, then find the 
other number 
a. 65  b. 66  c. 1  d. 77  e. Answer not known 
,U rhh; gfh vz;fspd; kP.rp.k. 5005. Xh; vz; 65 vdpy;> kw;Nwhh; vz; vd;d? 
a. 65  b. 66  c. 1  d. 77  e. tpil njhpatpy;iy 
 

157. LCM of 35a2c3b, 42a3cb2 and 30ac2b3 is 
a. 210a3c3b3  b. 7abc   c. 216a2c3b   
d. 441a3c3b2  e. Answer not known 
35a2c3b, 42a3cb2  kw;Wk; 30ac2b3 ,tw;wpd; kPr;rpW nghJ klq;F (kP.ngh.k) fhz;f. 
a. 210a3c3b3  b. 7abc   c. 216a2c3b   
d. 441a3c3b2  e. tpil njhpatpy;iy 

 
158. The Lowest Common Multiple (LCM) of two numbers is 6 times of their Highest 

Common Factor (HCF).  If the HCF is 12 and one of the number is 36, then the other 
number is 
a. 48  b. 72  c. 24  d. 12  e. Answer not Known 
nfhLf;fg;gl;l ,U vz;fspd; kPr;rpW nghJ klq;fpd; kjpg;ghdJ> mt;tpU vz;fspd; 
kPg;ngU nghJf; fhuzpapd; kjpg;ig tpl 6 klq;F mjpfkhFk;. NkYk; mt;tpU vz;fspd; 
kPg;ngU nghJ fhuzpapd; kjpg;G 12 kw;Wk; mt;tpU vz;fspy; xU vz;zhdJ 36 vdpy;> 
kw;nwhU vz;zpd; kjpg;G  
a. 48  b. 72  c. 24  d. 12  e. tpil njhpatpy;iy. 

 

159. Find the HCF of the polynomials 6x3 – 30x2 + 60x – 48 and 3x3 – 12x2 + 21x – 18 
a. (x3 – 3x + 2) (x – 1). 3   b. (x3 – 3x + 2) (x – 2). 3   
c. 3 (x – 2)     d. (x – 2) (x - 1) 3     
e.  Answer not known 
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6x3 – 30x2 + 60x – 48 kw;Wk; 3x3 – 12x2 + 21x – 18 Mfpa gy;YWg;Gf; Nfhitfspd; kP.ngh.t. 
fhz;f.  
a. (x3 – 3x + 2) (x – 1). 3   b. (x3 – 3x + 2) (x – 2). 3   
c. 3 (x – 2)     d. (x – 2) (x - 1) 3    
e. tpil njhpatpy;iy 

 
160. If H.C.F of p and q is x and q = xy, find the L.C.M of p and q form the following 

a. pq  b. qy  c. xy  d. py  e. Answer not known 
p kw;Wk; q-d; kPg;ngU nghJ tFj;jp x kw;Wk; q = xy vdpy;> p kw;Wk; q-d; kPr;rpW 
nghJ klq;if fPNoAs;stw;wpypUe;J fhz;f. 
a. pq  b. qy  c. xy  d. py  e. tpil njhpatpy;iy 

 
161. Which of the following Dharmashastra were composed during the Gupta period? 

1. Yajnavalkya   2. Katyayana  3. Narada 
Select the correct option from the codes given below: 
a. only 1    b. only 2 & 3   c. only 1 & 2 
d. 1, 2 & 3    e. Answer not known 
Fg;ju; fhyj;jpy; ,aw;wg;gl;l ju;krh];jpuk; vJ? 
1. a[;dthy;f;ah   2. fhj;ahadu;   3. ehuju; 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rupahd tpiliaj; Nju;e;njLf;fTk;: 
a. 1 kl;Lk;    b. 2 & 3  kl;Lk;  c. 1 & 2 kl;Lk; 
d. 1> 2 & 3    e. tpil njupatpy;iy 

 
162. Which among the following is known as the earliest example of  Panchayatana style of 

temple? 
a. Dashavatara temple at Deogarh   b. Temple at Pathari 
c. Sahtrughneshwara temple at Bhubaneshwar d. Lakshmana temple at Sirpur  
e. Answer not known 
gpd;tUtdtw;Ws; vJ gQ;rahjd Nfhtpypd; Muk;gfhy cjhuzk; vd;W mwpag;gLfpwJ? 
a. jpNahfupy; cs;s jrhtjhu Nfhtpy;  
b. gjhup Nfhtpy; 
c. GtNd~;tupy; cs;s rj;Uf;Nd~;tuh Nfhtpy; 
d. rpu;G+upy; cs;s yl;Rkz Nfhtpy;   
e. tpil njupatpy;iy 

 
163. Which of the following temples built during the Gupta period has a square tower of 

Shikhara? 
1. Dasavatar Temple at Deogarh  2. Bhitargaon temple 
3. Mahadev Temple at Nachna Kuthar 
Select the correct option from the codes given below: 
a. only 1&3   b. only 1&2   c. 1,2&3 
d. only 3    e. Answer not known 
Fg;ju; fhyj;jpy; fl;lg;gl;l gpd;tUk; ve;j Nfhapy;fspy; rJu rpfuq;fs; (tpkhdq;fs;) 
cs;sd? 
1. jpNahfupy; cs;s jrhtjhu Nfhtpy;   2. gpju;fhTd; Nfhtpy; 
3. er;rdh Fj;jupy; cs;s kfhNjt; Nfhtpy; 
fPNo nfhLf;fg;gl;Ls;s FwpaPLfspy; ,Ue;J rupadhijj; Nju;e;njLf;fTk;: 
a. 1&3 kl;Lk;   b. 1&2 kl;Lk;   c. 1>2 & 3 kl;Lk; 
d. 3 kl;Lk;    e. tpil njupatpy;iy 
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164. Which of the following inscriptions mentions that Harsha defeated the Vallabhi king, 
Dhruvasena II? 
a. Sohgaura copper plate inscription  b. Nausasi copper plate inscription 
c. Kadamba copper plate inscription  d. None of the above 
e. Answer not known 
ty;yhgp kd;dd; ,uz;lhk; JUtNrdid `u;~u; Njhw;fbj;jij gpd;tUk; nrg;NgLfspy; 
vJ Fwpg;gpLfpwJ? 
a. Nrhnfsuh nrg;NgL  b. nesrhrp nrg;NgL   c. flk;gh nrg;NgL  
d. Nkw;fz;l vJTk; ,y;iy e. tpilnjupatpy;iy 

 
165. Who among the following was the author of Jambavati Kalyanam is Sanskrit? 

a. Krishna Deva Raya  b. Allasani Peddana  c. Tenali Ramalinga 
d. Nandi Timmana  e. Answer not known 
gpd;tUgth;fspy; rk];fpUjj;ijr; Nru;e;j [hk;gtjp fy;ahzj;ij vOjpatu; ahu;? 
a. fpU~;zh Njth uhah   b. my;yrhdp ngj;jdh      c. njdhyp uhkypq;f     
d. ee;jp jpk;kdh   e. tpil njupatpy;iy 

 
166. To which dynasty does Zain-ul Abidin (1420-70) of Kashmir, famous for his patronage 

of arts and literature, belong? 
a. Shah Miri dynasty  b. Ilyas Shahi dynasty c. Faruqi dynasty 
d. Muzaffar Shahi dynasty e. Answer not known 
fiy kw;Wk; ,yf;fpaq;fSf;F Mjutspj;jjw;fhf gpugykhd fh~;kPiur; Nru;e;j i[d;-
cy; mgpjPd; (1420-70) ve;j tk;rj;ijr; Nru;e;jtu;? 
a. ~h kpup tk;rk;      b. ,ypah]; ~h`p tk;rk; c. /gUfp tk;rk;   
d. Krh/gu; ~h`p tk;rk; e. tpil njupatpy;iy 

 
167. Who among the following was a worshipper of Rama? 

a. Surdas    b. Mirabai   c. Chaitanya 
d. Tulsidas   e. Answer not known 
fPo;f;fz;ltu;fspy; uhkiu topgl;ltu; ahu;? 
a. Ru;jh];      b. kpuhgha;       c. irjd;ah      
d. Jsrpjh];   e. tpil njupatpy;iy 

 
168. Who among the following saints of Maharashtra dharma was a dharakari, that is, one 

who combined spiritual life with worldly life? 
a. Ramdas   b. Tukaram   c. Jnanadeva 
d. Namadeva   e. Answer not known 
kfhuh~;bu ju;kj;jpd; gpd;tUk; Jwtpfspy; jufhup> mjhtJ Md;kPf tho;f;ifia cyf 
tho;f;ifAld; ,izj;jtu; ahh;? 
a. uhkjh];        b. Jf;fhuhk;        c. QhdNjth      
d. ehkNjth   e. tpil njupatpy;iy 

 
169. Prince Dara Shikoh was a follower of which of the following Sufi orders? 

a. Naqshbandi  b. Qadri   c. Shattari 
d. Suhrawardi  e. Answer not known 
,sturu; jhuh ~pNfh gpd;tUk; ve;j R+/gp fl;lisiag; gpd;gw;wpdhu;? 
a. ef;~ge;jp      b. fhj;up       c. ~l;lhup    
d. R`;utu;jp  e. tpil njupatpy;iy 
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170. Consider the following statements regarding Sangam Period: 
1. The period roughly between the 5th century B.C. and 3rd century B.C in South India 

(the area lying to the south of river Krishna and Tungabhadra) is known as Sangam 
Period. 

2. South India, during the Sangam Age, was ruled by three dynasties-the Cheras, 
Cholas and Pandyas. 

3. It has been named after the Sangam academies held during that period that 
flourished under the royal patronage of the Cholas kings of Madurai. 

Choose the correct statements from the above: 
a. 1 and 2   b. 2 only   c. 1 and 3 
d. 1, 2 and 3  e. Answer not known 
rq;f fhyk; njhlu;ghd gpd;tUk; $w;Wfis Ma;f:   
1. njd;dpe;jpahtpy; (fpU~;zh kw;Wk; Jq;fgj;uh ejpapd; njw;Nf mike;Js;s gFjp) 

fpK 5 Mk; E}w;whz;Lf;Fk; fpK 3 Mk; E}w;whz;Lf;Fk; ,ilg;gl;l fhyk; rq;f fhyk; 
vd miof;fg;gLfpwJ. 

2. rq;f fhyj;jpd; NghJ njd;dpe;jpahit %d;W tk;rq;fs; Ml;rp nra;jd - Nruu;fs;> 
Nrhou;fs; kw;Wk; ghz;bau;fs;.  

3. kJiu Nrho kd;du;fspd; mur Mjutpd; fPo; nropj;Njhq;fpa jkpo; rq;fq;fspd; 
fhuzj;jhy; ,t;thW ngauplg;gl;lJ. 

Nkw;fz;ltw;wpy; ,Ue;J rupahd $w;Wfisj; Nju;e;njLf;fTk;: 
a. 1 kw;Wk; 2  b. 2 kw;Wk;   c. 1 kw;Wk; 3 
d. 1, 2 kw;Wk; 3  e. tpil njupatpy;iy 

 
171. Consider the following and choose the correct statements: 

1. According to the Tamil legends, there were two Sangams (Academy of Tamil poets) 
held in the ancient South India popularly called Muchchangam. 

2. The Second Sangam was held at Madurai, only Tolkappiyam survives from this. 
3. Tolkappiyam was authored by Tolkappiyar and is considered the earliest of Tamil 

literary work. 
a. 1 and 2   b. 2 and 3   c. 3 only 
d. 1, 2 and 3  e. Answer not known 
gpd;tUtdtw;iwf; fUj;jpy; nfhz;L rupahd $w;Wfis Ma;f:   
1. jkpo; Guhzq;fspd;gb> gz;ila njd;dpe;jpahtpy; Kr;rq;fk; vd;W miof;fg;gLk; 

,uz;L rq;fq;fs; (jkpo;f; ftpQu;fspd; fy;tpkd;wk;) elj;jg;gl;ld.  
2. ,uz;lhk; rq;fk; kJiuapy; ele;jJ> ,jpypUe;J njhy;fhg;gpak; kl;LNk vQ;rp 

epw;fpwJ. 
3. njhy;fhg;gpak; njhy;fhg;gpauhy; ,aw;wg;gl;lJ kw;Wk; ,J Kjy; jkpo; ,yf;fpag; 

gilg;ghf fUjg;gLfpwJ. 
a. 1 kw;Wk; 2  b. 2 kw;Wk; 3   c. 3 kl;Lk; 
d. 1, 2 kw;Wk; 3  e. tpil njupatpy;iy 

 
172. Consider the following given pair is correctly matched? 

1. Silappathigaram   – Elango Adigal 
2. Tolkappiyam   – Thiruvalluvar 
3. Kavyadarsa    – Dandin 
4. Devichandraguptam  – Vishakdatta 
a. 1 only    b. 4 only   c. 1 and 3 
d. 2 and 4 only   e. Answer not known 
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gpd;tUk; nfhLf;fg;gl;l ,iz rupahfg; nghUe;Jfp;wjh vd;gijf; Ma;f?  
1. rpyg;gjpfhuk;   – ,sq;Nfh mbfs;  
2. njhy;fhg;gpak;  – jpUts;Stu;  
3. fht;ahju;~h   – jz;bd;  
4. Njtpr;re;jpuFg;jk;  – tprhfjj;jh; 
a. 1 kl;Lk;    b. 4 kl;Lk;   c. 1 kw;Wk; 3 
d. 2 kw;Wk; 4 kl;Lk;  e. tpil njupatpy;iy 

 
173. KEELADI EXCAVATION SITE was recently in news. Which of the following 

statements is/are correct regarding it? 
1. Keeladi excavation site is a Sangam period settlement 
2. It is believed to be a burial site 
3. It lies in present day Kerala 
a. 1 and 2   b. 2 and 3   c. 1 and 3 
d. 1, 2 and 3  e. Answer not known 
fPob mfo;thuha;r;rp jsk; gw;wpa rkPgj;jpa nra;jpfspy; ,Ue;J gpd;tUk; $w;Wfspy; 
vJ rupahdJ?  
1. fPob mfo;thuha;r;rp jsk; xU rq;f fhy FbNaw;wk;. 
2. fy;yiw jsk; vd ek;gg;gLfpwJ  
3. ,J jw;Nghija Nfushtpy; cs;sJ 
a. 1 kw;Wk; 2  b. 2 kw;Wk; 3   c. 1 kw;Wk; 3 
d. 1, 2 kw;Wk; 3  e. tpil njupatpy;iy 

 
174. Which of the following statements is/are correct about Rashtrakutas in medival history 

of India? 
1. Rashtrakuta rulers had great quality of religious tolerance and also credited with 

building of famous rock-cut Shiva temple at Ellora. 
2. Pali and Kannada literature made great progress during their reign. 
a. 1 only   b. 2 only   c. Both 
d. None   e. Answer not known 
,e;jpahtpd; ,ilf;fhy tuyhw;wpy; uh~;l;u$lu;fs; gw;wp gpd;tUk; $w;Wfspy; vJ 
rupahdJ?  
1. uh~;l;u$l Ml;rpahsu;fs; kj rfpg;Gj;jd;ikapd; kpfg;ngupa Fzj;ijf; 

nfhz;bUe;jdu;. NkYk; vy;Nyhuhtpy; Gfo;ngw;w Filtiu Nfhtpyhd rptd; 
Nfhapiyf; fl;ba ngUikiaAk; ngw;wdu;. 

2. ghyp kw;Wk; fd;dl ,yf;fpaq;fs; ,tu;fsJ Ml;rpapd; NghJ ngUk; Kd;Ndw;wj;ij 
mile;jd. 

a. 1 kl;Lk;    b. 2 kl;Lk;    c. ,uz;Lk;  
d. vJTkpy;iy  e. tpil njupatpy;iy 

 
175. Consider the following statements with respect to Chola Empire in India” 

1. Sanskritisation process started from Chola times as the Caste system was widely 
prevalent. 

2. Practice of sati became sacred and a new social evil Devadasi system came into 
practice. 

3. Shiva was the preeminent god for the Cholas and hence Serious clashes were 
started between shaivites and vaishnavites. 

Which of the above is/are correct? 
a. 1 and 2    b. 2 and 3   c. 1 and 3 
d. 1, 2 and 3   e. Answer not known 
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,e;jpahtpd; Nrhog; NguuR njhlu;ghd gpd;tUk; $w;Wfis Ma;f:   
1. rhjp Kiw gutyhf ,Ue;jjhy;> Nrhou; fhyj;jpypUe;Nj rk];fpUjkakhf;fy; 

nray;Kiw njhlq;fpaJ.  
2. rjp eilKiw Gdpjkhfp> xU Gjpa r%f jPikahfpa Njtjhrp Kiw eilKiwf;F 

te;jJ.  
3. rptd; Nrhou;fspd; gpujhd flTshf ,Ue;jjhy;> irt kjj;jpdUf;Fk; itzt 

kjj;jpdUf;Fk; ,ilNa fLikahd Nkhjy;fs; Vw;gl;ld.  
NkNy cs;stw;wpy; vJ rupahdJ? 
a. 1 kw;Wk; 2   b. 2 kw;Wk; 3   c. 1 kw;Wk; 3 
d. 1, 2 kw;Wk; 3   e. tpil njupatpy;iy 

 
176. Consider the following statements about Chola art and culture: 

1. Chola art saw culmination of Dravida temple art resulting in most sophisticated 
building and they used material of bricks due to its greater durability. 

2. Dvarpalas at the entrance of the mandap and Presence of water tank is the unique 
feature of chola architecture. 

3. Tamil and Sanskrit language flourished during Chola period. 
Choose the incorrect statements from above: 
a. 1 and 2   b. 2 and 3   c. 1 only 
d. 2 only   e. Answer not known 
Nrhou;fspd; fiy kw;Wk; fyhr;rhuk; gw;wpa gpd;tUk; $w;Wfis Ma;f:   
1. Nrhou;fspd; fhyj;jpy; jpuhtplf; Nfhapy; fiy jdJ cr;rf;fl;lj;ij mile;jJ> 

,jd; tpisthf kpfTk; mjpetPd fl;blk; cUthdJ kw;Wk; mjpf cWjpj;jd;ik 
fhuzkhf mtu;fs; nrq;fw;fs; gad;gLj;jg;gl;ld 

2. kz;lgj;jpd; EioT thapypy; cs;s ,Ughyhf;fs; kw;Wk; ePu; njhl;b Mfpait 
Nrho fl;blf;fiyf;F jdpj;Jtkhd mk;rkhFk;.  

3. Nrhou; fhyj;jpy; jkpo;> rk];fpUjk; tsu;r;rpaile;jd.  
NkNy cs;stw;wpy; jtwhd $w;Wfisj; Nju;e;njLf;fTk;: 
a. 1 kw;Wk; 2  b. 2 kw;Wk; 3   c. 1 kl;Lk; 
d. 2 kl;Lk;    e. tpil njupatpy;iy 

 
177. With reference to the cultural history of India, consider the following statements: 

1. White marble was used in making Buland Darwaza and Khankah at Fatehpur Sikri. 
2. Red sandstone and marble were used in making Bara Imambara and Rumi Darwaza 

at Lucknow. 
Which of the statements given above is/are correct? 
a. 1 only    b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
,e;jpahtpd; fyhr;rhu tuyhw;iwg; nghWj;J gpd;tUk; $w;Wfis Ma;f:   
1. Gyhe;j; ju;thrh kw;Wk; /gNjG+u; rpfupapy; cs;s fhd;fh Mfpatw;wpy; nts;is 

gspq;F gad;gLj;jg;gl;lJ.  
2. yf;Ndhtpy; cs;s ghuh ,khk;guh kw;Wk; &kp ju;thrh Mfpatw;wpy; rptg;G 

kzw;ghiw fy; kw;Wk; gspq;F gad;gLj;jg;gl;ld.  
NkNy nfhLf;fg;gl;Ls;s mwpf;iffspy; vJ rupahdJ? 
a. 1 kl;Lk;     b. 2 kl;Lk;    c. 1 kw;Wk; 2 ,uz;Lk;  
d. 1 my;yJ 2 ,y;iy  e. tpil njupatpy;iy 

 
178. With reference to Mughal India, what is/are the difference/differences between 

Jagirdar and Zamindar? 
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1. Jagirdars were holders of land assignments in lieu of judicial and police duties, 
whereas Zamindars were holders of revenue rights without obligation to perform 
any duty other than revenue collection. 

2. Land assignments to Jagirdas were hereditary and revenue rights of Zamindars were 
not hereditary. 

Select the correct answer using the code given below. 
a. 1 only    b. 2 only   c. Both 1 and 2 
d. Neither 1 nor 2  e. Answer not known 
Kfyha ,e;jpahitg; nghWj;jtiu> [hfPu;jhUf;Fk; [kPd;jhUf;Fk; cs;s NtWghLfs; 
vd;d?  
1. [hfPu;jhu;fs; ePjpj;Jiw kw;Wk; fhty;Jiwg; gzpfSf;Fg; gjpyhf epy xJf;fPl;il 

itj;jpUg;gtu;fshf ,Ue;jdu;> mNjrkak; [kPd;jhu;fs; tUtha; tR+y; jtpu NtW 
ve;jf; flikiaAk; nra;a Ntz;ba fl;lhakpd;wp tUtha; cupikfis 
itj;jpUe;jdu;..  

2. [hfPu;jhf;fSf;F epy xJf;fPLfs; guk;giu guk;giuahf toq;fg;gl;ld. [kPd;jhu;fspd; 
tUtha; cupikfs; guk;giu Kiwapy; toq;fg;gltpy;iy.  

fPNo nfhLf;fg;gl;Ls;s FwpaPl;ilg; gad;gLj;jp rupahd tpiliaj; Nju;e;njLf;fTk;. 
a. 1 kl;Lk;     b. 2 kl;Lk;    c. 1 kw;Wk; 2 ,uz;Lk;  
d. 1 my;yJ 2 ,y;iy  e. tpil njupatpy;iy 

 
179. Which one of the following is not a Harappan Site? 

a. Chanhudaro   b. Kot Diji   c. Sohagaura 
d. Desalpur   e. Answer not known 
gpd;tUtdtw;wpy; vJ `ug;gd; jsk; my;y? 
a. rd;̀ PjhNuh     b. Nfhl; b[p      c. Nrh`hnfsuh     
d. Njry;G+u;   e. tpil njupatpy;iy 

 
180. In which of the following relief sculpture inscriptions is ‘Ranya Ashoka’ (King Ashoka) 

mentioned along with the stone portrait of Ashoka? 
a. Kanganahalli  b. Sanchi   c. Shahbazgarhi 
d. Sohgaura  e. Answer not known 
mNrhfupd; fy; cUtg;glj;Jld; 'uz;a mNrhfu;' (mNrhfu; kd;dd;) vd;W 
Fwpg;gplg;gl;Ls;s rpw;gf; fy;ntl;L vJ? 
a. fq;fd`y;yp   b. rhQ;rp       c.  ~hgh];fhup     
d. Nrh`hnfsuh  e. tpil njupatpy;iy 

 
181. Consider the following: 

1. Deitification of the Buddha 
2. Treading the path of Bodhisattvas 
3. Image worship and rituals 
Which of the above is/are the feature/features of Mahayana Buddhism? 
a. 1 only   b. 1 and 2 only  c. 2 and 3 only 
d. 1, 2 and 3  e. Answer not known 
gpd;tUtdtw;iwf; Ma;f:   
1. Gj;jiu nja;tkhf;fy;  
2. Nghjprj;thf;fspd; ghijapy; gazpj;jy;  
3. rpiy topghL kw;Wk; rlq;Ffs;  
Nkw;fz;ltw;wpy; vJ kfhahd ngsj;jj;jpd; rpwg;gpay;G? 
a. 1 kl;Lk;   b. 1 kw;Wk; 2 kl;Lk;  c. 2 kw;Wk; 3 kl;Lk; 
d. 1, 2 kw;Wk; 3  e. tpil njupatpy;iy 
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182. Building ‘Kalyaana Mandapas’ was a notable feature in the temple construction in the 
kingdom of 
a. Chalukya   b. Chandela   c. Rashtrakuta 
d. Vijayanagara   e. Answer not known 
ahUila uh[;aj;jpy; Nfhapy; fl;Lkhdj;jpy; 'fy;ahz kz;lgq;fs;' fl;LtJ 
Fwpg;gplj;jf;f mk;rkhFk;? 
a. rhYf;ah;    b. rz;Nlyh;    c. uh~;l;u$lh;  
d. tp[aefuk;   e. tpil njupatpy;iy 

 
183. Consider the following statements: 

1. In the revenue administration of Delhi Sultanate, the in charge of revenue collection 
was known as ‘Amil’. 

2. The Iqta system of Sultans of Delhi was an ancient indigenous institution. 
3. The office of ‘Mir Bakshi’ came into existence during the reign of Khalji Sultans of 

Delhi. 
Which of the statements given above is/are correct? 
a. 1 only    b. 1 and 2 only   c. 3 only 
d. 1, 2 and 3   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f:   
1. jpy;yp Ry;jhdpaj;jpd; tUtha; epu;thfj;jpy;> tUtha; tR+y; nghWg;ghsu; 'mkpy;' 

vd;W miof;fg;gLfpwhu;.  
2. jpy;yp Ry;jhd;fspd; ,f;jh mikg;G xU gz;ila cs;ehl;L KiwikahFk; 
3. jpy;yp fpy;[p Ry;jhd;fspd; Ml;rpapd; NghJ 'kpu; gf;~p' vd;w gjtp cUthdJ.  
NkNy nfhLf;fg;gl;Ls;s $w;Wfspy; vJ rupahdJ? 
a. 1 kl;Lk;    b. 1 kw;Wk; 2 kl;Lk;   c. 3 kl;Lk; 
d. 1, 2 kw;Wk; 3   e. tpil njupatpy;iy 

 
184. With reference to the Mian Tansen, which one of the following statement is not correct? 

a. Tansen was the title given to him by Emperor Akbar 
b. Tansen composed Dhrupads on Hindu god and goddesses 
c. Tansen composed songs on his patrons 
d. Tansen invented many Ragas 
e. Answer not known 
kpahd; jhd;nrd; Fwpj;J> gpd;tUk; $w;Wfspy; vJ rupahdjy;y?  
a. jhd;rd; vDk; gl;lj;ij mtUf;F Nguuru; mf;gu; toq;fpdhu;. 
b. jhd;rd; ,e;J flTs;fs; kw;Wk; nja;tq;fs; gw;wpa JUgjpfis vOjpdhu;.  
c. jhd;rd; jdJ Gutyu;fs; gw;wpa ghly;fis vOjpdhu;.  
d. jhd;rd; gy uhfq;fis fz;Lgpbj;jhu;. 

e. tpil njupatpy;iy 
 

185. Who among the following Mughal Emperors Shifted emphasis from illustrated 
manuscripts to album and individual portrait? 
a. Humayun   b. Akbar   c. Jahangir 
d. Shah Jahan   e. Answer not known 
gpd;tUk; Kfyha Nguuru;fspy; ahu; tpsf;fg;gl ifnaOj;Jg; gpujpfspy; ,Ue;J My;gk; 
kw;Wk; jdpg;gl;l cUtg;glj;jpw;F Kf;fpaj;Jtk; nfhLj;jhu;? 
a. `PkhAd;    b. mf;gu;    c. [`hq;fpu;  
d. ~h[fhd;   e. tpil njupatpy;iy 
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186. With reference to the religious history of India, consider the following statements: 
1. Sthaviravadins belong to Mahayana Buddhism. 
2. Lokottaravadin sect was an offshoot of Mahasanghika sect of Buddhism. 
3. The deification of Buddha by Mahasanghikas fostered Mahayana Buddhism. 
Which of the statements given above are correct? 
a. 1 and 2 only  b. 2 and 3 only  c. 3 only 
d. 1, 2 and 3  e. Answer not known 
,e;jpahtpd; kj tuyhw;iwg; gw;wp> gpd;tUk; $w;Wfis Ma;f:   
1. ];lhtpuhthjpfs; kfhahd ngsj;j gphpitr; Nru;e;jtu;fs;.  
2. NyhNfhj;juhtjpd; gpupT ngsj;j kjj;jpd; k`hrq;fpfh gpuptpd; xU fpisahFk;.  
3. kfhrq;fpfu;fs; Gj;jiu nja;tkhf;fpaJ kfhahd ngsj;jj;ij tsu;j;jJ. 
NkNy nfhLf;fg;gl;Ls;s $w;Wfspy; vJ rupahdJ? 
a. 1 kw;Wk; 2 kl;Lk; b. 2 kw;Wk; 3 kl;Lk;  c. 3 kl;Lk; 
d. 1, 2 kw;Wk; 3  e. tpil njupatpy;iy 

 

187. According to Portuguese writer Nuniz, the women in Vijayanagar Empire were experts 
in which of the following areas? 
1. Wrestling  2. Astrology  3. Accounting 4. Soothsaying 
Select the correct answer using the code given below 
a. 1, 2 and 3 only  b. 1, 3 and 4 only  c. 2 and 4 only 
d. 1, 2, 3 and 4  e. Answer not known 
Nghu;j;JfPrpa vOj;jhsu; Edp]pd; $w;Wg;gb> tp[aefu; Nguurpy; cs;s ngz;fs; gpd;tUk; 
ve;j Jiwfspy; epGzu;fshf ,Ue;jdu;? 
1. ky;Aj;jk;   2. N[hjpltpay;  3. fzf;fpay;  4. Fwp nrhy;Yjy; 
fPNo nfhLf;fg;gl;Ls;s FwpaPl;ilg; gad;gLj;jp rupahd gjpiyj; Nju;e;njLf;fTk; 
a. 1, 2  kw;Wk; 3 kl;Lk; b. 1, 3 kw;Wk; 4 kl;Lk;  c. 2  kw;Wk; 4 kl;Lk; 
d. 1, 2, 3 kw;Wk; 4  e. tpil njupatpy;iy 

 

188. Consider the following pairs: 
Historical place: Well-known for 
1. Burzahom    : Rock-cut shrines 
2. Chandra-ketugargh  : Terracotta art 
3. Ganeshwar    : Copper artefacts 
Which of the pairs given above is correctly matched? 
a. 1 only   b. 1 and 2    c. 3 only 
d. 2 and 3   e. Answer not known 
gpd;tUk; ,izisg; gw;wp Ma;f:   
tuyhw;W jsk;  gpurpj;jk; 
1. Gu;rhN`hk;  : Filtiuf; Nfhapy;fs; 
2. re;jpu-nfl;̂ u;fu; : RLkz; (nluNfhl;lh) fiy 
3. fNz~;tu;   : nrg;G fiyg;nghUl;fs;  
NkNy nfhLf;fg;gl;Ls;s ,izfspy; vJ rupahf nghUe;JfpwJ? 
a. 1 kl;Lk;   b. 1 kw;Wk; 2       c. 3 kl;Lk; 
d.  2 kw;Wk; 3  e. tpil njupatpy;iy 

 

189. Consider the following statements: 
1. It was during the reign of Iltumish that Chengiz Khan reached the Indus in pursuit 

of the fugitive Khwarezm prince. 
2. It was during the reign of Muhammad bin Tughlaq that Taimur occupied Multan 

and crossed the Indus. 
3. It was during the reign of Deva Raya II of Vijayanagara Empire that Vasco da Gama 

reached the coast of Kerala. 
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Which of the statements given above is/are correct? 
a.  1 only   b. 1 and 2   c. 3 only 
d. 2 and 3   e. Answer not known 
gpd;tUk; $w;Wfis Ma;f:   
1. ,y;Jkp~pd; Ml;rpapd; NghJ jhd; nrq;fp]; fhd;> jg;gpNahba Fthur ,sturiuj; 

Njb rpe;Jit mile;jhu;.  
2. KfkJ gpd; Jf;sf; Ml;rpapd; NghJ jhd; ij%u; Ky;jhid Mf;fpukpj;J rpe;J 

ejpia fle;jhh; 
3. tp[aefu Nguurpd; ,uz;lhk; Njtuhahtpd; Ml;rpf;fhyj;jpy;jhd; th];Nfh lh fhkh 

Nfusf; flw;fiuia mile;jhu;.  
NkNy nfhLf;fg;gl;Ls;s $w;Wfspy; vJ rupahdJ? 
a. 1 kl;Lk;   b. 1 kw;Wk; 2      c.3 kl;Lk; 
d. 2 kw;Wk; 3  e. tpil njupatpy;iy 

 
190. Match List I with List II and select the answer using the codes given below the lists: 

List I    List II 
(Battles at)   (Victors) 
A. Kalumalam    1. Karikala, Chola ruler 
B. Vahaipparandalai  2.  Nedunjeliyan, Pandyan ruler 
C. Venni    3. Sengutttuvan, Chera ruler 
D. Talaiyalanganam  4. Senganan, Chola ruler 

5. Karikala, Chola ruler 
A B C D 

a. 2 3 1 4 
b. 3 5 2 1 
c. 5 2 3 1 
d. 4 1 5 2 
e. Answer not known 
nghUj;Jf 
gl;bay; I    gl;bay; II 
(Nghh; eilngw;w ,lk;)  ntw;wpngw;wth;fs; 
A. fOkyk;   1. fhpfhyd;> Nrho Ml;rpahsh; 
B. thifg;gue;jiy  2. neLQ;nropad;> ghz;bad; Ml;rpahsh; 
C. ntd;dp   3. nrq;Fl;Ltd;> Nru Ml;rpahsh; 
D. jiyahyq;fhdk;  4. nrq;fdd;> Nrho Ml;rpahsh; 
5. fhpfhyd;> Nrho Ml;rpahsh; 

A B C D 
a. 2 3 1 4 
b. 3 5 2 1 
c. 5 2 3 1 
d. 4 1 5 2 
e. tpil njhpatpy;iy 

 
191. Which of the following ports, according to the anonymous author of the Periplus, are 

located on the west coast of south India? 
(i) Naura   (ii) Tyndis   (iii) Muziris 
(iv) Nelcynda  (v) Bacare   (vi) Balita 
Choose the answer from the codes given below: 
a. i, ii and iii  b. ii, iii, iv and v  c. i, iii, iv, v and vi 
d. all of them  e. Answer not known 
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ngupg;s]pd; ngah; njhpahj Mrpupaupd; $w;Wg;gb> gpd;tUk; JiwKfq;fspy; vJ/vit 
njd;dpe;jpahtpd; Nkw;F flw;fiuapy; mike;Js;sJ? 
i. nes   ii. jpz;b];   c. Krpwp]; 
iv. ney;rpz;lh  v. gf;fhNu   vi. gypl;lh 
a. i, ii kw;Wk; iii  b. ii, iii, iv kw;Wk; v  c. i, iii, iv, v kw;Wk; vi 
d. ,it midj;Jk; e. tpil njhpatpy;iy 

 
192. According to the Periplus and Sangam texts particularly Maduraikkanji, a pearl fishery 

was located at _________ 
a. Muziris   b. Arikamedu   c. Korkai 
d. Kaveripattinam e. Answer not known 
ngupg;s]; kw;Wk; rq;f E}y;fspd; gb Fwpg;ghf kJiuf;fhQ;rpapy;> Kj;J kPd;gpbj;Jiw 
________ ,y; mike;jpUe;jJ vd Fwpg;gplg;gl;Ls;sJ 
a. Krpwp   b. mhpf;fNkL    c. nfhw;if 
d. fhNthpg;gl;bdk; e. tpil njhpatpy;iy 

 
193. Who among the following Sangam rulers took the lead in organising the pattini cult? 

a. Karikala, the Chola ruler   b. Nedunjeliyan, the Pandya ruler 
c. Senguttuvan, the Chera ruler  c. Nedunjeral Adan, the Chera ruler 
e. Answer not known 
gpd;tUk; rq;f Ml;rpahsu;fspy; ahu; gj;jpdp topghl;il xOq;fikg;gjpy; Kd;dzp 
tfpj;jdu;? 
a. Nrho Ml;rpahsh; fhpfhyd;   b. ghz;ba Ml;rpahsh; neLQ;nropad; 
c. Nru Ml;rpahsh; nrq;Fl;Ltd;  d. Nru Ml;rpahsh; neLQ;Nruyhjd; 
e. tpil njhpatpy;iy 

 
194. Which one of the following Chera rulers is said to have imprisoned several Yavana 

traders and released only after obtaining a heavy ransom? 
a. Senguttuvan    b. Udiyanjeral  c. Nedunjeral Adan 
d. Mandaranjeral Irumporai  e. Answer not known 
gpd;tUtdtw;wpy; ve;j xU Nru Ml;rpahsu; gy atd tzpfu;fis rpiwapy; 
milj;jjhfTk;> ngUk; fg;gk; ngw;w gpd;dNu tpLtpj;jjhfTk; $wg;gLfpwJ? 
a. nrq;Fl;Ltd;    b. cjaQ;Nruy;  c. neLQ;Nruyhjd; 
d. khe;jud; Nruy; ,Uk;nghiw  e. tpil njhpatpy;iy 

 
195. Match List I with List II and select the answer using the codes given below the lists: 

List I   List II 
A. Kudi  1. Region 
B. Kalam  2. Irrigation canal 
C. Tinai  3. Land measure 
D. Veli  4. Unit of weight 

5. Caste 
A B C D 

a. 2 4 1 5 
b. 3 1 2 4 
c. 1 3 5 2 
d. 5 4 1 3 
e. Answer not known 
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nghUj;Jf 
A. Fb  1. epyg;gFjp 
B. fyk;  2. ePh;g;ghrd fhy;tha; 
C. jpiz  3. epy msit 
D. Ntyp  4. vil myF 

5. rhjp 
A B C D 

a. 2 4 1 5 
b. 3 1 2 4 
c. 1 3 5 2 
d. 5 4 1 3 
e. tpil njhpatpy;iy 
 

196. If product of given three numbers is 1875 and their HCF is 5, then their LCM is  
a. 75  b. 125  c. 375  d. 450  e. Answer not known 
nfhLf;fg;gl;l %d;W vz;fspd; ngUf;fw;gyd; 1875 kw;Wk; mtw;wpd; kP.ngh.t-5 vdpy; 
mtw;wpd; kP.ngh.k 
a. 75  b. 125  c. 375  d. 450  e. tpil njhpatpy;iy 

 
197. If the HCF of two numbers 36 and 156 is 12, then its LCM is  

a. 468  b. 452  c. 152  d. 156  e. Answer not known 
36>156 vd;w ,U vz;fspd; kp.ngh.t. 12 vdpy; mtw;wpd; kP.ngh.k.  
a. 468  b. 452  c. 152  d. 156  e. tpil njhpatpy;iy. 

 
198. The traffic lights at three different road junctions change after every 40 seconds, 60 

seconds and 72 seconds respectively.  If they changed simultaneously together at 8 a.m 
at the junctions, at what time will they simultaneously change together again? 
a. 8.03 a.m  b. 8.04 a.m   c. 8.05 a.m   
d. 8.06 a.m  e. Answer not known 
%d;W Nghf;Ftuj;J re;jpg;Gfspy; cs;s neupry; tpsf;Ffs; xt;nthd;Wk; KiwNa 40 
tpehbfspy;> 60 tpehbfspy; kw;Wk; 72 tpehbfspy; xspu;fpd;wd.  mt;tpsf;Ffs; 
midj;Jk; fhiy 8 kzpf;Fr; re;jpg;Gfspy; xd;whf xspu;e;jd vdpy;> kPz;Lk; mit 
vg;NghJ xd;whf xspUk;? 
a. 8.03 a.m  b. 8.04 a.m   c. 8.05 a.m   
d. 8.06 a.m  e. tpil njhpatpy;iy 

 

199. The LCM of two numbers is 210 and their HCF is 14.  How many such pairs are 
possible? 
a. 3 pairs    b. 4 pairs    c. 1 pairs    
d. 2 pairs    e. Answer not known 
,U vz;fspd; kP.rp.k 210 kw;Wk; kP.ng.fh 14 vd;Ws;sthW vj;jid vz;Nrhbfs; 
rhj;jpakhFk;? 
a. 3 Nrhbfs;   b. 4 Nrhbfs;    c. 1 Nrhbfs;   
d. 2 Nrhbfs;  e. tpil njhpatpy;iy 

 

200. Find the smallest number that can be divided by 254 and 508 which leaves the 
remainder 4. 
a. 1016  b. 512  c. 532  d. 516  e. Answer not known 
254 kw;Wk; 508 Mfpa vz;fshy; tFf;Fk;NghJ kPjpahf 4-Ij; jUk; kpfr;rpwpa vz;izf; 
fhz;f. 
a. 1016  b. 512  c. 532  d. 516  e. tpil njhpatpy;iy 
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